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Unit 1. Leisure & Life
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Vocabulary Preview
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3. scary
6. clerk

2. advice

A 1. theater
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5. costume
8. holiday

4. excited
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Reading 1

72 iy

2.3 3.0 4@

1.@

@& Dark colors make very scary costumes, but

Visualize the Text

they are also dangerous.

(3) flashlight
(6) dangerous

(2) dark colors

(5) fires

(1) safe

£ olojeitt,

‘dark colors’

*they=

(4) long

@ In the dark, cars can’t see you if you wear

dark colors.

olojo|ct,
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@& This advice will make Halloween a safe and

fun day.
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AnswerKey

2ln Jld= Gk dres FHojLuch “AHIOIAL ZicEl” of

*make + S0 + SHBOIYA: make= S, 0|=7} EXXRL Qs JHIRCE 00129 HiolEE YYo|
Halloween2 =04, a safe and fund day= Zjoict

SHE0{o|ct,

(EXETE))

1 @ ojo|R9 SREtdolE
@ otol=9] MolU= el
Reading 2 4 S -
sl i ® ojolast 7H gorart 30|
220l= DfOIEQI =20t HI0|Eo] £t YstE AJllein
Summarize the Text oI}
(1) a date with Stacy N - .
2 0j0|3= AHOAQ HZ H0IES 5t oL &6t

(2) everything went wrong =0| Q0N 022 74| =it

(3) too little money
3 AHOIAZ 0to|37F HEE AK| g1 IRilE S22k =

7| HZol Skt sre2 L7HFint 2=, 010[322] H|0]
E= JY0| =of HEICt

(4) got angry with him
(5) ran out of the theater

(6) really terrible
4 D 9EE 50ME

@ 1022

Lecor ® 153 751

Of0|=3= Aol MelRct. 2= AHOIARF 528! H0IE 4% @ 1452 250E
O] UACH AHOA= SwOIA 712 ol oJ=H440(ULCt D013 Of0|=7t LIO|EOIN At §9| M= Hat BN 2FE
= 79| X2 oict @, Qthill oAl @ 102 giof i Tl5k= o X8t 9g3 50METt MEolct
Cf O= 10222 AHIOIAR HEANE 5l 2 & Qi
o Je|n G3E 2y 24 4E gt
2RP| @t 3B HC AHOIAIRCE "M, AROIA| Sof
oL opol=vt ULk "oftR MY o2 ZfY AHOIAE @ Mike was very excited. He had a big date with
SUCE B, 4 Wt e MY H ot A LRI 2 HeliiM XY Stacy.
ANE QIS0 2t ojojast i “olol, Y g + exciledi= DHSAIZ Mikeol ZEAEHE Al
Zo[CH” AHO|AZE 3iCE " SiE 7id?” "dES DXt oto] 1 9Ick (NOT Mike was very exciting)
3ot WL R L Ut 2218 YER FHoke & s

€Y 1wanted to make dinner for you, said Mike.
« EA} wants BXAIZ 2X0{2 ZH=Ct (NOT -

M - . .
250] Sskol] EXAS T, 00|Z0I OFFs| 10K} i et kg dlner
CH = DjEA Yoz AoZCH T & FAMS oto|3gt @& The clerk gave Mike fifty cents back.
2RiCE "o=tE SOMEQLICE” jEAS| XI@0| LUt X2 * give + ZFI=X0] + 2E=X01: gives F IS
00| 3014l SOMIEE S2=RULt 0fo|l3= a2 FoUol 2 SH0E A= FHSAOID,
AL EEY “It can make you fat.”
g2 Tot) Yoll= 21 20| Al URACH "HE HALT AHO|AIZE - It2 popcorng 7t2lZIct,
gislict EES Aotz 25MIESCH “EF @270, O3t Lst - make + 2X0] + 2XEO(EHA): yous =5
ot a7 9 S5k BHEHoE “LED S=2tkm 517l 0l fate 2xEo{o|ct,
CHA Lf2t st Mzt Xjof ofo|31" AE|OIAZE A=RCE 2

Answer Key
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Unit 2. Sports

Vocabulary Preview p.17

A 1. neighborhood 2. wear

3. league 4. experience
5. dangerous 6. organize  7.board
8. elementary 9.teamwork 10. special

B 1.c 22a 3.e 4d b5.b

& og

board ZX

’. I
special £45t E451

[

experience dgl(5iCh
wear A&alCl Jct

dangerous /&gt neighborhood 012, 2!
elementary ==2| 7|2%Q] league 2|7, A
organize #H[5ICH A=[GICH teamwork E93, s XY

o
extreme == 2|, S popular 27| =, thEZQ!

generally 2E=o= L7} huge 7chst

chance 73], 7ts4
Reading 1 p.18
1.@ 2.0 3.® 4 @

Visualize the Text

(1) board (2) mountain (3) exciting

(4) careful (5) roads (6) dangerous
=D
O, ARS2 MEX AL iR eieh AxXE Fh=Cf 2
2l= J2fot ARXES OAEY Anxp; B2} 0iR |REB 9
AEEZ] AR ZF SiLl= AEZIE EX0|CH AEZE EXE &
o, \ZFS2 0?71 AJ0|E BE 2 HeS B I52
ool = =22 JHM ZE Mot WeQH dFE Bl AL
E 2XZ El= NZE2 012 W2 2i0h o ZojA a5
= A& 800t e| £E01F Wl g & Q) AERIE 22X
£ Ele= MEE2 27 gele Zs Z018i 252 340]
O AT AHZIBHE,
AEQ|E 2XE El= ARIE2 W2 FH2|7| 0l e A4
affof Bict 52 dtls Mok ittt 252 S8t 2t 0|8
£ UL}, Bief AERIE 22X AZIVL He|H dHe 2E Slol
Answer Key

L

>\IO

EXER)
1 @2EselE 2x0| Fus

@ AE2lE 2x9] 7|

1 Abs AZX0lC @ 12 AZ0| et e g
SR Ut

HiZt Chg 2EolM, 2oe Af8afa, E%et 22 018t
1, HEO| 22 SHITY = WE0| AZERACE w2k gl
Zioll= OH Z4JeloF Bict 7t 7+ 1 Esick

@Y Everyyear, people find new, exciting, and
very dangerous sports.
snew, exciting, dangerouse= S2AtZ2 HAt
sportsE AleiCt,
Al andE new, exciting, dangerouss
f

=O|RA
o ]
o1ZishzET

Ct
- these sports= S8, extreme sportse= =X
Hofolct,

@& Onsome roads, they can go as fast as 80 mile
sper hour.
cas + ®3 + as! AgS MES HUA20R '~
o3 ---5iCf of ojojolct,



Reading 2 p.20

1.@ 2.® 3.© 4.3

Summarize the Text

(1) play on sports teams

(2) parts of the community
(3) a chance to have fun

(4) teamwork and leadership

(5) a great experience

SHAlo] At X0l OloISE | =)

ol ERHOIH OFRE0| YIS HULICE B2 XI0f ofolSS

Set 2IS 2lalLitle League) ol ULITH 2lS 2o g

UdEoR ZSEMT FHMSS Bt HYUCL OoiS9| Bt
_

= [s]
wolle =AHe Axx Fo| gi7| tizof, 2
—

oF AL

£ 27t gleH
o

= o :
K2 oplE2 22= oM Z7I1E & 4 Qg Ay T
T X|9e] 22 ot Hol 25 2|2 8 XI=gH) 21 2|70
M OPIE2 THE X|HolM 2 1t 712 U

2lE 2|1 E52 SSA AfRle| SR8t BEYULCEL OS2 0f
O[S0iI7 EHA S&2E tiz 4 U= 7(=E S, 0f
A2 Yol UM St wEYUC, IUNS2 £ 010|E
oAl Molg a1 Mz22 THES A+ Uz 7I=le MESE
LICt B2 ofoISolAl elE 2las S dgoln, 252 aAd
= B et 71 it

1 O ofzlo] s+&
@ Ol0|Z AYY M22 BF
Q sl AXx m2Eo| B2
@ Ol0|=2 et XY A= Eo| th|
2|E 2|d(Little League)?t SSH| Atslel 25t 2E0|
TR0 Of0E 2MMof UM EL8 BwES MEsHELE o
M 2l 2las Ol0IE2 Bt XY Anx ol tiA es

s

2 @©ES ol
@ drxe=z
Q@ dHe=z, ERU0|

@ NEHe=z

AnswerKey

generally= 'YEMo=z 7, EE 9| 2Jn(o|1, S2H2

£ ‘usually, as a rule 0| QUct

3 2IE 2l(Little League)

= HE SuE dtiz F7[6k= A
0f ofu2k tHE X[HolM =2 Fub Z7IE itk

g2 2l 227t oIS Eelae S&=i= i
7 UAs 7= M2 TFES A 2 Uz 7IEE A
29| SR

Without Little League, many of these
children could not play on a sports team
because their schools do not have organized
sports.

« (without + BAl~, 0] + ZSAKLLH) + SAHH
e 7 FEo= I tialoll withouts At
3ch &2 SAPE ‘could not play 0|22 7t
Y BAS LIEHACE,

* Without Little League = If it were not for
Little League

+ organized= WHEAIZ sportsE AT

@Y The children are also given a chance to have
fun and a way to make new friends.
care given2 SO0ISAIS| £SEHOICE, (5X0{7}
£ iRl 0sSAlE £SEIE = )
« RO + pOIESAL + ZHE=H0 + AHSHN —
F0{ + be p.p + AH=EX0O + by
*to have®t to make= FHARE ol U
!

a chance®t a wayE 282t AlGiC

At

rr

Answer Key
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Unit 3. Festival QY MO 2 R0|ALS 020N I 2 2E50| AV}
ZIUCE 500,000EHS EH= AFREE0] OfE O A 27] Yol =

Vocabulary Preview p.23
71y REet == Aot ofH, OS2 ﬁ% o =30 o £/
A 1.tradition  2.hang 3. concert OS2 6l =2BICE (a) 2012V01=, 152 60= OfA9] &
4. strange 5. poisonous 6. popular =2 MEILCL (b) O, 252 A O MoIU=S HSPAZICH
7. horserace 8. company 9. fireworks () Jei, 252 40 AZIS BRAIE Bett 1 4= 3d
10. myth 28& Heol Zolo[ct (d) 152 MM @ R0|AZ0| =1
' Eojzlzist sic
B 1.e 2.d 3c¢c 4a 5.b
(EETEE)]
£ oy 1 @ 7K 7| U= ZME
Xt ©OH5F 24
horserace &0t fireworks =5, 2£=0| @ 71d w2t 2ot
strange O[&%t concert 9F2|, ZME @ im0 7hy 28 XS0
tradition TS poisonous 758t £0| = @ 718 7Eet 22=0] =it
myth A3 hang ZiCt oi=iCt | 22 0I=0IM 7HE 2 2E50] 401 WH Qi R0[A
popular 27| Q= tHE=R! company Z|At 2o ARt 7|RS Mot Ut
famous &t interesting S0|22 }
_ L 2 42| 3AE AE O TOIA BEE7] e sHoMCE 401
important 2t holiday 3%7%, 54

refuse 7HZolct, HEsICt

3 @ 77| ZopPt oj=oilM |et 2 FFo|ck @ MHH @
Reading 1 024 H R0[AZE MSRE ZMEOIM 7H Q17| U 2E20IA
C. @ ZEf7| B0t HE 28 RO|AUSCE o 2H=RCt
1.@ 2.0 o 40 4 [324, 052 A9 IS BFRAE et ]
Visualize the Text (c) CIS0l 49| AZt0] &4 28E2= 3ADE 49| AZIS
(1) fireworks shows (2) 22 years HERAL 2RUTHE PRl A Lieal QIC iebh 201
T 2Fol A5k fIXl= (c)olct,

(3) Kroger (4) popular (5) fireworks

(6) 500,000

@Y Thunder Over Louisville started when a large

m company, Kroger, wanted to do something

WH 2 F0|AZ(Thunder Over Louisville)2 MAOIM 7H special for the Kentucky Derby. They decided to

2 2Z250| & B9 stfolch, a2 7E7| ot A & have a concert.

2l= Aolch ZE7| Z0k= 0[=0llM et L ZF0(c), 7Y s when2 AIZL2 LIEH= B4 F4AO|CH

7| B0k= 042 Qef=AXTE WEH QB 2O|ARER 2213 M *want, decide= BEAE =X0I2 Zh=CL (NOT
gholl =X eLRpT, - wanted deinrg )

WY e R0|AUS 32M2k= 2 APt 27| ZoE ?/6l «—thing, —bodyi BLi= A= F8APL FHollAM
St EFst A siiF10 4l0fets tIM SERICEL 252 2M AAIBICE (NOT - special-something)

AU, A52 =XZS01= 8 sz ok
—

=

= @Y After that, the fireworks got bigger and bigger
0o, EE=0s =l SHX SRMIBH T3S EMEUM TH BOTVIES 5
()

1719/ 220[Qict 1 032, E2=0|= 0id 727t &A™ each year.
S B o - getlbecome] H|ug and Hlwg: B ~oiX|cH
o ZAMUCE
6 Answer Key

—



@ Today, Thunder Over Louisville is the biggest
fireworks show in the United States.
« Zlalg HE the + zldlg + in Za(of EBA)

@EY They want Thunder Over Louisville to be fast
and exciting!
s want + SX0] + SHEH(oRHAL): SAH want=

to £HAIS 2xH0j2 et

Reading 2 p.26

1.@ 2.@ 3.® 4.®

Summarize the Text

(1) for people in love

(2) some holiday traditions
(3) under the mistletoe

(4) on New Year’s Eve

(5) will not stay together

<D

S2|AOLAQL Moz Al—IE St U= ARSI E & SR¢t
HE0I0h A, =AY T899 B2 AS0| Helsts flgt A
o1t

7Pe0l= a2fet HelsS flet =M HE S ofolt. (a)
A0l =2M ST F2AM Hoit s AS0IT F2|A
oA SeMof, MHE2 252 & ol HARH0IS Zois=L0
(b) HSofl w=H, 2ref Gilof #A0] of2iofA F4lef el
= UHCHH, G2 7|28 2 2t (o) O1X2 A0} At
A2 =0| V| Mzl 222 olyell BYX|= 2ECL (d) SHX|
oF =7t 7|AE HESRE1?

T OE =Y 714 HS2 Mol TOFRSE FefFT Atsh M
Ofel 12A] Fiofl G2 gule] HlofAl 7IAS sof2t eict,
gtz off 0[S shof2h sk=7f? OfZdof| et 0l Tt HE
of QlstH, 2ef galol Xkgoll 7|1AS okl =RBItHH, ths siiof
GLIS2 eiehAl R Adojct I & Afsh 7|AS ==
sfizH

AnswerKey
(EEE)]
1 @ M= SIS0 28t Zolr,
@ A2 S2IADIA Fof HLMOIS 2 7§ TBH0F SiTt
@ gAle EFYUNIC 5 YA CRIETL R
7IAZ 3ot Bic
@ J2IA0PASH MEHOl= MRS BhD e ARISS 93t

2 oeF ARIS0| XFFol| 7|AS SHX| RethH, i alol

[GFX] ReICY 2k= 0| U7 | WhZ0lct

oo

b =0] VI HZ0f HSAO] Of2HoIM 7IAS

ol

G According to tradition, if you meet your lover
under the mistletoe, you get a kiss!
+ {according to + HAhE * ~olstH 9| olo|o|
Ct. (according as 04 + AN

EEY This may seem a little strange since
mistletoe is actually poisonous.
*{seem + (to be) E&Ah= "~ A 2t 9 9
00| HE'E LiEi= F8AF HolM= to be
di2fsr o U,
=

0lFE UEH= S&TEA0(T,

rr

* since

@ According to the myth, if you don’t kiss at
midnight, you will not stay together for the
next year.

«FE2 A RAPHOLL SIXHAIHIZ D[2HE LIEHA
Ct (NOT - if you wilt not Kiss-+)

Answer Key
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Unit 4. Job

Vocabulary Preview p.29
A 1.continue 2. copper 3. miner
4. actress 5. spend 6. wonder
7. trick 8. hero 9.real

10. accident
B 1.b 2d 3e 4a 5.¢c

& og

trick 271, £ miner &%

accident Atil, AR continue 7l&altt Xl&ofch
spend ELHEf INE=C real AxQ| ZIuto|

actress Ot hero ¥2 Zoiz

copper 72| wonder 8%8}[%
amazing s2iz
excellent 238! Efelst

job & =E

Reading 1 p.30

1.@ 2.Q 3.@ 4 @

Visualize the Text
(3) born
(6) 35 bones

(1) dangerous (2) famous
(4) his job

=D

HI(HHI‘j'(daredevn)

(5) accident
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Answer Key

1968, LIs2 A5z oi2feh MIE g0 A2 2fAH]

JIAOIMRAT, = 135mES| 71 2HE FHolgedn UCt
== oRXEE 2= 2HA0Z0M EojRc 2= 2 0= 3
hg Sets HHEUM Rt LE2 dofui22M 19 A=

a8 =X UTE 3= AlSShA guE ot 19 gE= o

ZoiX|1, o HSeAct M2 1o ME= HSAO0|X| UL
LE2 HoH22Z A9 Q14 SOt 358 w7t 2243ct 19| o
= MK 2= 3T FX| L/UCE 0|20 T7F AAR T
FHot HlofH20| = OFO|C,
1T O ZEAIZ B2 @ Z|=9| Mzt A
@ 012 LS9 22zt @ MAOIA 7H chet diofd/&
2| 22 MIA0IM Z7H Hchst dlofelel Sof st ol o2
LIZ off st Zo|c,
2 O 2EfL @ ZAHPEA @ ZA2|ZLoF @ ==
0|2 L=0| Mgez Mzsh Mg Yot 212 19684 2t

AH|Z A MR,

3 3¢m 2o, o5 LIS
AUTH = 0] AFEIUCE

Moo} ojojE ABE0lx| o

4 (O 0[Zi0| 27t dofHol| 2elE = 0lR0Ct
@ 0[Z0| MHEZRREH HHts EX| ¢k= 0lR0ICt
@ 0]Z0| 27t Hlojo|E=Ae| AAE a8 = 0lF0|CtH
@ 01Z40| 7t Aty 7He RE dofodol = olFolct
He 241 ojZ30l= =76k dloHEs LS| e

of, 0lF U=0| JARY 7R w2t tlojd|Zo] & Ao,

@& He was famous for making long jumps with
his motorcycle.
HohXICr 2f ejojolct,

+ making2 SBAIE ™X[AL fore| SA0{0]|Ct

+was famous fore ~2 &

@Y He also did other kinds of tricks, but the
motorcycle jumps were always the most
popular.

s but2 RS UEHHE S &[T,
calwayse RIZEAR UESAtOl QF beSAfLt
ZSAE| ol =C,

@ He tried to jump a 135-foot-long pool.

—
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iry + to E™AL ~5t 1 oMLt

«try + SHAR AR Aot ~oHECt

+ 135-foot-long2 AL poolE Alcke HSAL0]
Ct (NOT ---135-feet-long pool)

@I His jumps became longer and more
dangerous.
+ become H|ig and Hlug: EE ~aHX|CH

Reading 2 p.32

1.@ 2.@ 3.0 4. @

Summarize the Text
(1) do dangerous things
(2) make stunts look real
(3) to get hurt

(4) go to special schools

(5) true heroes

SRS o SlsiE Bk ZAle HRS0| ofEA| 18 St
2 252 FH=X| IR 1 gL HuUc BE 150)
SRl iaLIct At ST Ofxf oS0l st 0| izt
50| 222 BUCE 259/ US (R UME 2X| 2B
Ch 352 tPf RBHAIK SaLICE 152 E5t Ut st
Oix} HiRS0| Bi= BrE0| B E x| REHLT
X} CHIS T OfXF CHISOIA X2 Jhs Bt 2Rt o
%2 St AFSS MPIISUT 1SS theo] Atk
O 3HOF BHRISH 1SS FTE Tl %S 5k LIt
U ZR0| 3 YOI I RS LAt L OfXt B9t
S BLCL BIot IS BH= ARZISO| 97| 8IS Tl Sict
o 2SS 0fe TR XX WX 2 AYLICH 2SS S4
B stmof Jlolgt 51, OFF ES3 B0S AF0folt B
aS0| U2 Xl B 25 M st ol 741 T
3 ygsALC
1 O8RS QUM YIS

@ ofzfe xS @ TPgE AN BRE

AnswerKey

o 22 THY BIRS0| UM SN St iETt US o
et 2ol

2 ouim SCIOIN, THIBHRL QIIBISE CHEIAI BH 0h

ZEEh AX[ofl XA = AoICt 2k L0 AE =AY,

3 ToMIRSS KU om, eSS e &

o

N

4 O U2 ol MEE=2 g8Xolct
@ tiYE ske AlZS2 OlEF0iS0|Ct
Q@ tYs ote AlFES 20| Holtt
@ S ol AdE2 TE7Eolt
e BieE2 25°| tH0| EMxiE Z0[A| siof 5ta, +
T ORI siiMe Q=] tiZof A HatollMd 259l
22 tittsl M=ZAel Zo|ct

&Y Do you wonder how the actors can do such
amazing things?
« (how the actors can do ~)&= SAH wonder?
=SHofo|ct,
- HOEE Ole2 AZAF + FO + SAFOICE

(NOT -~ hew-can-the aclors do )

2y They also do not make nearly as much
money as actors and actresses.
+as + B8 + as: ¥ HuHEHCZ ~0tF -5}
O} of Z£o|ct,

=}

2 =2 Ert 2| on|

» make much money=

£ g

0| moneys= A = Gl= YAO|Z| TfZ0
much& ARseltt,

FA2Ry money as )

(NOT - make nearly as

They have to make the stunts look real, but

they don’t want anybody to get hurt.

*make + =80 + SEL0|(HAREAD: AFs
A makes EZREAE SHENZ Zh=Ct,

«want + 280] + 2XE0](to get): want= toF
FME =8EH0= Zh=Ct,

@Y 1f stunt people injure the star, they will be in
alot of trouble.
AR 2712 LEE 2AE0|T SIRiANZ O]
HE LIEFHCE

Answer Key
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be in trouble2 =Zoil HEXICH HRSHAl =Ck
9| SR0lct,

p.34

it
O A © TRIE R O NEHC @
A 1. serious 2. miners 3. popular C 1. spend: ol HA0jAf U AR XILHCE

4. disaster 5. elementary myth: alnt SSS0] ek AH0(0R |
tume: 8 AlZE &4, &= MR EXE UE=

B 1.® 2.0 3.@ . S e

o=
C 1.spend 2. myth 3. costume

4 tradition: et MICHOIM CHE M2 U2{2E 2alHd2l]

5. advice: 2| aflZ 2o et Lot K2t

English Usage » English Usage

4. tradition 5. advice

A 1.take 2.as 3. told A [5HA]
4.toreplace 5. most 1. U7t 27F FAIS FEICHH 7120 of Lok 20|
B 1. will meet - meets 2. 1= 0| AtA DRX| FEAE ofefehict
2_ than -.» as 3 I‘”I——lE i iM% X\ja %x| %éﬂ[h—l E“.:"‘éﬁl:’i
= it

3. born --» was born

4. finishing --» to finish ' —=

. [3"*1
5. where did she learn --» where she learned = )
1. 22 2AEOIM= SIXHAHZ OHAMIS LIEHACE
= (A I 3 ‘o] o
2 as pale as a ghost= (¥=0]) mi2|5t04 2| 2jojolct,
3. was told= 14 SAt toldel £SEIZ "SI 9f 2lo|
A 1. there were cars on the road during the race olcH
2. to learn about teamwork and leadership 4 SAF want= t0BE™AIE 2X0|2 Z2h=C},
3. the biggest fireworks shows in the world 5. the most FEA(EAD in &4 the most beautiful0| &
4. since the mistletoe is actually poisonous SN2 zlelg H0|CH
5. as much money as actors and actresses B [aAd]
1. &0 249| THE WY BHHCHH Tld= AF0IE Efe

(EXETE))

2. iR9| E&0k= Mo|&9 ALE 50| Hot
» Vocabulary
3 HMEE 2T Al QUX|BE TR2[ofl A EHO{'TE
A 1A REYRE a2B 2Xs Yo Zoln 4 1 JKsShwe| 00| U2 B\ AHCE
2 B2 XIs2 Sz 250] Z5|A =UC 5 22)= a7} o{Cjof M Qo= HiR=X| 2280}
3 o= Tt A MAIN AP | @IPIE 0 ot [3HA]
4 20124 EiS2 DI= SEXYGS ZEfet Zo| Xiixifol 1. = EAEOA SRIAIXZ O[22 ojojsict
KLt 2 as 8Al ase ¥Z Hlw HFo2 ~OEF --5F 9| 9f
5. Afeleh2 =58t SPMS0| iRV (0ls R o2 s ojo|ct

10 Answer Key
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AnswerKey
3. EHOIWITE of Yek2 #812 ‘was born O|C, & oy
4 decide= toRYAE =X0= ZH=Ct, term 20, ¥ culture 23}
5. 710|220 &2 (QI2A} + =0 + SAPOIC} 2t attention 2| 2t social Af3|2| At3|HQl
where she learned”} 2ate HH0|C} violence == behavior &=
encourage 2z 12]sict focus H&sITHAIZICH
» Making Sentence candidate S =2xt talent A=, s, &7
_ ilar B3t QAL te AZSICH PISC
A 1 oot 25 mx0l AS0| Zol At aze ys gy SHArtEE A ereate SRS FEE
o hate 0|®/siCt insult 2= 225}t
& 20l upset 4418t 0j20] AlpH
2 2|E 2[00 22 opolsoiH EeFet &4 tieg &
Qe 7ISIE MBI
3. Mo @uf R01ALS MAIA 71E 2 £2=0| 4 59| Reading 1 p-40
stLtolct,
4 012 AP} A2 S0 | o] E32 ol 1.0 2.0 3.© 4.9
off HUX|= 22Ct Visualize the Text
5 152 weh gt et KXt uRS0] = 2Eo B2 (1) Simon Cowell (2) American Idol
Eo H 225H | . .
£8 A XU (3) comedy (4) singing
(5) plain (6) performance

m

iz
rU
o
gl
=
HU
L
DE
\E
Tu
\

S

@

IEA 2 HEE)= (Oft2[ZH 010]
7

o| A'M?I%C” MOIE* o] BHE AYucH a2l O P2
Lafoll 2ES %F1 Q= Oofn2IZh ofo|S) 1t 1Y HI|ILICE
SR (ER|EA 2t HE-E) = LS HoMeE 1 E’?i =
SiLCh XBXS2 S0t Z0|0Q 20| o xHs0l2te B 4~
UELICE SAE0| Aol o 7HXl= 24=0] o THXE0] &=
LI
CHAPTER 2 20071 Ol 1 mEIHE ¥ Hole] Aupie] ARES
S sigksuUct 2 = 200990 2 =222 Z2xHAMol ol
712 EELCE 25t HYojeks o FHEE 22 MARIESE
2 340] HERSLCE JH= HEe AR AHH =S4
. ) £ o0 A/USLILE J49] 3¢ ZEs T2 FH0] 2lEUo|
Unit 1. Music TRSLICE SIS Aj0I0] s AED} EIQBLICL S2A
Al aldE= sl o a~40ll= ATiistich
Vocabulary Preview p-39
E EEET
A 1.candidate 2.term 3. focus 1 @ ofojalt opol= m=2
4. social 5. talent 6. attention @ A%+ Helo| T
7.behavior  8.violence 9. culture @ =iH|X A (HE|EA 2t H2E)
10. encourage @ £ ZXERI Q17|
B 1b 2e 3d 4a 5.c 9] 22 N T2l (He|EA It HHE)9| EZ
gt 3 S¢IXtol| gtet 201ck
Answer Key
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2 O Xioict @ FAloiCt Reading 2 p.42
® At @ =i
show off= “XKIZsich TAISICE ©f ojpjolm, Sojoiz= 1.0 2.0 3.© 4.@

|
| "7}l .
boast, be proud of, brag 7| QICt. Summarize the Text

3 (HEIEA A HEE) 0= =alf, &, 122 Fo|t] 5 o™ (1) an accepted word

Msolete B 4 UL

(2) speaking badly

4 2SERpH @ =85z (3) aware of social problems
t @ ol =H (4) between rappers and singers

K AMojofl AEE HRUCE = LE0], FHof (5) to abuse one another
A

X222, o & W&

=
= —
detd A ASE € 4 Utk T2t gE2
7

L
0o
A=)
o

(6) lead to violence

>
inl
[>
rr
o
oo
[
fon
=)
>x
30
08
ron
0
[=)

°
i
in]
i)
rr
finl
>_
U

2 =N
S0l thehiM L Lot= AS Qo[EUct ofX|2t CAS Sh=
US ANZHESO0| ABIx 20 BAS 2 Bs 2= UBLcH
€Y And the idea is quite similar to American OIS ST O =hHSS UAS OOl S4at 22 230
Jdol, which focuses on singing. thgfele giois 6&%_[1 OlZELCt eHE0| 0l BRY s

is similar 10: ~9} BIATS ARSIt o= AMHES TIASIOHH Clas £2 20| 2 2 UsUChH
cwhich BACIEA A8 Sgom mawe 0 DT Tel 8 SEREUH JiEHes AESS da
American 1dol0Ick Ch= A2 20| 258 25!tk 48 2nIEitict, ol
focus on: ~0f ZEsict S OHXIQ| 2imRt 7t4=5 AtoloilA &4 Lo Lict K= 0|Z0|
SlEle E= Of0IE0IA EX| %2 HAXIE E'HOID A2t
Y Losers are chosen each week, while winners Ll 0= 0l0|S0| MEZ H|UBEIIL CI2 Al2IS0| et L
get closer to the prize. SES Sl=2 2R ARIS0| 0H2 S| Sl ol= £
+get closere AA o 77IXICY 9 on|= Zzoz HE A QIALICH 2HEHS0| 023t iES Bxy|= 7

(get + Hlm=hHe FA o ~alxict 2h= oolE o 2x| oLt

=Lt

Since 2007, the show has entertained

EXER)

millions across the U.K.

slsF 2510 A
“(have pp. + since AlRDE Bxigm Az 1 DEEESEIEA
- SiMiETt 240l oY o X2 for(~E9, © 2l Sstel FaRel Aus
=} O = .
(A= 29 CAE 336t RUeH, (B)= HAE H|Hst
@Y A candidate named Susan Boyle shocked the T QT oS CilE = cizt mS 'SlEto| C|A 2P =
judges with her singing. Ci21 9t
*named= HAZA(EEANZ At a candidate )
= AAIBICH 2 O &3oict
_ : Z0J5iC
« shockede T 22 SA0|1 a candidate © Seloitt
7t 290l Fofolct @ oIt
@ HItaiCt

12 Answer Key
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speak out againste ~0f CHEH BiHO| S4A2|5 LHCH ~

of thet olz7ie sl Uk el ojojojn, Sojojze

‘criticize, find fault with’ 7F QUC,

3 (AN TIAS Se2M AMZHS0| AlEX ZH0 22 %
A B 4 UCF = WHE0| HZ=RACE

4 O a3yt
© Azt
@ aEx| eke
@ g ¢
TIA0 Afsld &Ho| QUTY = Ui83t 0[2(8H o2 ‘0felo]
LI Z2{0f cgt Bithel E42|E Uit = LEEg 81710] 0]

1 QIC} mab glZiolls OflAl o HZEOI7E THY YR,

@& But dissing can also make people pay
attention to social problems.
*make + =X0] + SHZ0(HERYAN: AS
Al makez HYRFAME SHENZ =0,

+ pay attention to: ~0f| 22t ~0f F=olct

@& This happens all the time between rappers
and singers in the media.

L{LH, &2 9| 2[oolEt. (= always)

* between A and B: A2t BALO|0f]

+ all the time2

@& Itencourages them to insult one another or
make mean jokes about other people.
s encourage + SX0{ + SHL0i(toRFA): ~7t
Si=E A2 H]sict
« SHTEA ore insultet makeE HZAahZELt,
*make mean jokes: H|ZSHAL
Ct (mean: &A22)

[>
fli=)
Ao
o
on
1o
Q'E

@ 1tis bad for rappers to encourage this
behavior.
oIt + be + A+ for 254 + to SARE
[t 71301, for rapperse 20j4 F0, to
encourage this behavior2 ZIZ=0{0]Ct

-

Unit 2. Movie

Vocabulary Preview

A 1.appeal
3. revolve
5. villain
7. portray
9. dynamic
B 1.b 2a 3.e

& o

allure 0

appeal 22 SCt
feminine 0i&A2iE
portray 2AIC 20450k
attribute £4

seldom &XE ~ 9=

AnswerKey

2. attribute

4. allure

6. protagonist
8. feminine
10. tendency
4.d b5.c

protagonist F=21=2

tendency &g, 712
villain &g
dynamic <5t

revolve 3|5t

typical T&=QI

struggle S5t immortal X| 4=
garner Ct 2OCf
Reading 1 p-46
1.© 2.@ 3.@ 4.Q
Visualize the Text
(1) third (2) Twilight

(3) love story (4) to become a vampire

(5) identity
=D
(C) (E2fYefel) Bat A2|=z el7iel Hatet 379! o=
COol A Olop 12 B4 igez it a2 fHe Juire]
Xte| 022 AIRERE=] Al B F3te! (0IZEA) 7t &3] 1
2ot QIEEM = ZE (EAYR) = =¢f

D5 JEK| QU a2t A
Olf= =t Hitof 2H U=

Answer Key 13
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= =rHst AN lH= zt=2 ZAx|ot A — Ol 0o} Z n
O||_ SEHu_ Eoo|3f1 :||_ =20 = —|-|X||_ EE 0'” ‘I’J 9|' = Readlng 2 p.48
=ol7|2 ol Q7|72 EI ISt
(A) 2ustH (OI2EA = SEHENA oY des 2l 2 1. 2.@ 3.@ 4L @
SOl galg =X ¢ 258 oMoz ZAH| 2ol £ .

o i - Summarize the Text
ot G0l At Yaleel Falls MEMA 249l S

] . .

oS =7pAzIcH (1) unique attributes

(2) very unusual characteristics

(3) her relationship with her sister
(EXET)

1 9 22 Mol FXIZ Sl MSo|Z fS ofzst Hst @

(OIZEIA)0f st LIZOICE Cl=LALY) (2942 2 22X ofjuoo|M Hatet we
2 (CIolA sloll et MukEel MRS sim, (Bl Bxje  DOIM CIEOH O10] Ot MSSSES] AIBEC! Ofier 2
SF ZEIof chel Xiulal B %, (Ao 2 Hag alst B 7O 8% €82 S B AAE 220, 2 olopi=
= 70| M5 2M0|CH KIOfRl & B3 QfLtet Alof £t Zo[Ch 152 A= of
A H2EQ 71 S=0|M C|=LAR] S5 St SM B =
3 (OEEMAM S2H7H 2™ ODIXI2 RAMECH= x=o|0t
=
0 I 3 7(-II-IO| O NI ot &35 |
e R H F0LBO! OiLi U7} GAABDILL SBI27ALL, SHEal ¢
5 o 3Ix| Qrofr
o ASE SRl &Rt i Ol O HENel 5 4 B2SD CEr, (a) )
4 (C)o OtX|a} 2Z(However, ~ the film.)ol (O|ZZA)Et Jd= S3A0(1, XM2s6tn, 22 Ho| ofH, & HANT HT
of EHet nf=lg =l & ot (b) EESt O2f 9| AL|ete| A7t Fat MEt| dx L=
CHN JEEsE 7EEYE49 UR0|) (c) 0|A2 Ex| ¢t A
eld|, om0l Fsls0] &7elE Fot= dlofl XtoiE A0
Of TAHE EME AEsHX| e47| W20lct (d) ZFEZ 2= of
LMol Hels2 TP Al 22 Hi29} HiES IHAxE &

@& It portrays vampires in a good light rather oISX|E REC} 02 EE5F EXS0| (A2YT)0| U A5}
than the usual tendency to cast them as HIEIISof| ofsh itk ZTe| Cl=L] ofL|mjolAM = sifarm of
villains. 74X|E O|-,?,—O|E|-l
« rather than: ~2{7|2Ct=

@& The theme of identity further adds to its

(EXTETED
allure for fans.
) 29131 HTO 11 et
@ il o=u ol 7K oiEXel FH2lE & Sttt

@ Bella has to choose between remaining @ ({2 J4at ZEE 0| J1E ofL 0] A
human and becoming an immortal vampire. @ OHL} TRHSIX[DH ARyt 2
. : A2 Z=0j|M Els _ -

choose between A and B: A2} B S0i|A EfG} o] IO ot (HEYBO| ==t FEiElet BEE 4
o oIS UASS ABsHD C,

@ The Twilight film series revolves around the 2 (c) DRI oHLIBIO[ SIS Xioy Afojol mAHZ S
love story of Bella, a human, and Edward, a 2|2 DlEL O] X AIRSIX| H=Cie HS oF & olr}
vampire.

o Zo| = OCIO (AT o] ZESI EMS MOiE

« revolve around: ,\J% |o§ LH%O| ‘_r"gﬂo'l 3 -r| E—| - H\_'WH T'__l_l-\_ <74§o+:'1{>—| %Cﬂ o= Eoof

oLt ~S Al j2o= Alr} I ooz ofuoold Fsprt iRet tHEE MRS
QL= (d) 282 =S4 ojAisH 2FoICt

14 Answer Key
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4 O gl EX

@ ALALIR SERIZ 2 Tompglishoggo mad €

Q oEre =4 2. forgetting --» forget

@ =Eet &4 3. other than --» rather than

izt fo] 2ESES Soff ALt TRl S35t & 350 4. were - was

= OE =58 e 7xln len, Fate| £742| Est 5. what --» that

LPHHRL ofiL|oojHoll M B CHRX| Sl= =53 Uigs

o 4 9t

A 1. while winners get closer to the prize

2. encourages them to insult one another

@Y Disney’s Frozen is different from other . . .
) v o 3. The Twilight film series revolves around
musical animations.

« different from: ~@} CIZ 4.1in a good light rather than

5. in that she is not very feminine
@ This is perhaps what garnered such great box

office success as well as love from fans.
+ A as well as B: BE#3OfL|2} A

@Y Annais different from other typical fairy tale (2Hsid)
princesses in that she is not very feminine, » Vocabulary
proper, or neat. A 1 DEIXIER gt i AN ZE0l2t D i
*in that 01 + SAk: ~2k= HollAd 2 Ul s DolMs AiSaiXls Astol Aot
- different from: ~2f ChE 3 MAMES SISO =AS 012 AS il IS
@&y Frozenis considered by some film critics to 4 3sio] 2 BRI S22 TS AS 0170
be one of the best Disney animations ever. 5. P2l0fA B 2SS AMsh FARAR?
*one of the + ZAF + SHAE 71EN ~5t B9 B 1. 1S0| ME5IX| §rfn eislozm 1SS 2R51K| OiM|R
ot ® Zzsict @ 712 At sict
Q@ ASaiTt @ SfRaltt
2 1 =7 {2 MRl S2lok| flehiM Sals] MR
@ gct @ 2/t
i ® #2910 @ oltrt
3 T 3 O AWK EE A= A2 W OHAloIA=
S5t
A 1.social 2. tendency 3. encourages éi;;q © 7ol ~ oi
4. villain 5. culture @ mjmst @ ZEtADS
B 1.© 2.3 3.0

C 1. protagonist: 2=0|Lt Fat, 24 oto] Zx01Z
2. candidate: O X|L} oIS Fedil XS 2501
4. violence 5. portray L ARt

English Usage 3. attention: 2| A MZISHALL 2|AlSH= A
o

IT
4 violence: &40|Lt T[6HE = S2[A21 ol AKE

C 1.protagonist 2.candidate 3. attention

A 1.composed 2.forus 3. leasing

4. around 5. dancing '

gon

Answer Key
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» English Usage L,
A 8A 2 712 Cf2 ARSSOl il LI soe shilt aso)
= %)
1, 0| XT3 XES ZFHS 4 QLI Al Bldotes FEEL
2 o7} 3t o ol o TEXES EOIRle ZHE ks 3. 0170l Hatel B30l of=Y=o| A2t 0lop|E (9t
. T O =2 — —_= = — AT [&)
o olajol oIt Al2lzol EA RO B
otk
3 o B Sl AL A S Al S i 4 7 Ssls EETISS o] ofLjet B2 BE0M BA
M .
B B OfLH= L= MNAZX| och= A ClE2 X&{xo|
ol S35 2 mzsw OEU,
5. L= S&L Zi0t 0fLja} Lok 2is Zict
[aHd
1, (U + TpEA TR0R REES ximE A 0]y 2

off composed”t etk
2 (t .. + for 282 + toBHADOIA 2ol F0{o] SEH
for + S o|Ct,

2 buymgq HE FeHof sidske SYAIR! leasing

CHAPTER 3

D{
08
4
<
0
0%

At dancingo| =5t N ERIES

Ef.

B [aHAl]
1. AFElofl MIRHE! oj7450| 2ol E2ERICE Unit 1. Psychology
2 O3/ 238 Y SoHe(ti e 5oL,

3. 7= MBIt e Sl Vocabulary Preview p.55
4 THSEO OfLf2t XIRIHE LA TR S
5 = THANE & 4 Uth= HolM 01ES 7HK A 1.muscle 2. insomnia 3. liar
Cf, 4. patient 5. direction 6. pill
[3HM] 7. opposite 8. fake 9. medicine
‘o]0 MotEl 78 0|22 suggestions made(ZIHEAN 10. scratch

7+ormggojo|llf. B 1.e 2.d 3.c 4.b 5.a

2 (It ... of EXA + toRTANTECE TIR0{e| Yok
EHi to forget O|Ck,
3 ~EP|2ChE 9l 22 JIK BEOR rather thano| ME £ 0¥
SICE other thang ‘~2off 2k= S=0|ct, liar 7{%/24%40 scratch 2t
4 A as well as B7t 0|2 MOl HR0| SAl= A9 42t direction & opposite 2L
QIx|A|ZICH muscle &= medicine 2/g}, o=
5. ~ele HolA of 8 I EBOE in thato] XHsict,  patient &t insomnia ST
fake 72|, A= pill &< Hx|
» Making Sentence nervous =6l =xaH]sk= exact Mot Hyst
break 7Hct £t suffer A|Z2|ct nE8Ct

A 1. SXIE0] Mo o JmIIX|= Bl oi mAtS0| Fa2

recover =/=5tct

16 Answer Key
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Reading 1 p.56

1.@ 2.3 3.® 4 @

Visualize the Text
(1) touch (2) right (3) same words

(4) a shorter form (5) mouth

f

AMNEHS0] o220 HAYS st UK OFIX] Y1 4HLR?
BE HALH0ISS XHhlel =20t HE XL BE FASL
L} Ol= 150| ==l oith= A2 EH FX|. tgez, 0|
otz Bighe I50] HAYE ofd ek YaiE 4 st
REAHO = HAYS 2 Wl REZS MOF SLICL ASE0|=
0 BHHOIXIR, T2 AXNZHo7L A0l et thEe & o,
20| M1zt Mets| 22 OS2 AES AYLLh =
S o] ¥ S ARZotA| ¢ chEe ALt Bref gl
0] "Did you break the glass?(HI7t 11 &g ZiL?) 2l 22
™ = "No, (a) | did not break the glass.(OfL] = 1 #HE
THR| 4QU0{) 2ol CHEEr YLt (b) DEXEIe=2, AXLS

W 0 AMZel HE 282 US Nelsti= HE SX0IK| o

mo |uor

ALICt,

(EXET)

1 @ 5| Tt 01RS
@ HxlZel T2 Zuis

il

>
=]
I
o
mn

@ FHAILSH= NSO CiYEt BSS

= O
Sitt= E2 SamlAl LU,
4 AN

AnswerKey

o oLl ZE0| ol RS ABBITE AMS B 4
Quck

VN

@& Do you want to know if people are lying to

you or not?
«IFE2 HAEEM knowe| SX{0{0|1 2 ~2l
X| OFIX] o],

(= whether people are lying to you or not)

@ Next, eye direction can also tell you if they
are lying.
« 301 + tell + SHO0| + SHO: SAf tell2 2712
=xi0jg 2=t

- If22 BAERZ SAL tell] =X0{o|ct,

& People (who like to use their right hand) look
to the right when they lie.
s BAHHARE(who like to use their right
hand)2 HA} PeopleS 4AlSIC
« X0 0= Peopled | SAk= lookO|LCt,

@ Finally, when a person is lying, muscles in

his face will not move that much except for

the mouth.
«is lying2 SIiZIER0|T HAY ot ULt 9
olnjolct,
« except for + HAL ~2 X|2letn
Reading 2 p.58
1.® 2.0 3.® 4.0

Summarize the Text
(1) anew medicine

(2) a fake drug

(3) suffer from insomnia
(4) treat their illness

(6) strong belief can help

g e Me M XS0 M22 s AlgsUch a3 <

Answer Key
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2 SHES X=sly| YIFF H0IUSLICL T 502 ARSI
M22 ofg HEZ ASLICH T2 50H0iAl= (a) 7t 2t
FAGLICE 22 X (b) BIEIRI Loto|AXIRE & 012 12
SOlI7 Yatx| LpAELCE Al 2 Z, A ¢ 252 456H0| &
S [k & 4 QUUCH D URSLICE T (c) M22 20| St
7F ZQICHE Zof 7120] EUXIQ. J2|1 SEAE, T HM 1
Eol AIRME & At XS0 O ol 2HEe2 1E Bix|
LRUCHT UFELICE O ol ol YoRE7e? 152
o] XAl e X|Rel & Z0l2tn 2 P AYLct 1
£ & Y= aXlof 3%0] (d) DEHO| b ZQUCHn USR]
2| XM= 4ot 2350] eS| Ho| W= ol =28 &th= XS
WEUELICH
(ErIsa)
1 O =0t @ M=22 2 AlRdst7 |
Q@ =HEez 1s ¥ @ H[ELe B2
22 M2 A4S AFste IEoIM LHE el =et
2 =3t £ o 2oict
2 (cl= A Hmf as0 FUE do|n, LHX|= F ¢ 18
of =AU ekg Jt2lzIct
3 OUstLS @ g g0 Kl
Q £xtel = @ M2t SIAREE 9| X
“They strongly believed ~"0lAl (2] sl=0i| CHSh Z
5t 2E 0| sl=0] =20] =ACt= AME Y 4 Tk

4 “And to my surprise, ~" 0l QlAk= F =W 2F00A 7t
L|

T o8 20| HiR0| 150 BS0| WAl 94 20l
5SS BEE 4 ol

@Y For several months, I have tested a new
medicine on my patients.
* have tested= dRRIE AMZ AlES LIEHACE
(have p.p. + for 7IZh
@€ 1 had fifty people take the new drug.
* have + =80{ + =X H0](take): MASAF have
= HAERHAE SEE0Z 2=t
* take: SZofct
@I And to my surprise, half of the people in the

second group also said they no longer

Answer Key

-

suffered from insomnia.

«to + ARZAmy) + ZEHAHsurprise): L7t =2
il

+({in the second group)2 HX|IAFTZ HAt
peopleE $AISITY,

+no longer= "M 0]& ~OtLICE of ojojolct,

(= not ~any longer)

Unit 2. Literature

Vocabulary Preview p.61
A 1.difference 2. scary 3. share
4. produce 5. publish 6. female
7. lonely 8. tear 9. century
10. literary

B 1.b 2.d 3.e 4a 5.c

% o]

female O4&J[G{xt]Q!

difference 0|

century 100
share S%alcH
publish Stoict, Lretsirt
tear i, =t

produce ‘AT

literary 25t
scary FM2, dli=
lonely 2/=2
behind Fo

hurt Ckx|7| it

admire ZA5ICtH ARSI

horror %, 42}

ﬁ_iw
fate 24, =%

Reading 1 p.62
1.0 2.0 3.© 4. ©
Visualize the Text
(1) The Black Cat (2) horror
(3) cruel (4) cat’s eye
(5) his wife (6) behind a wall

=D

Of=rt ¢ Z= 0[=9] 7+ 7et 2= A7iuch 19|

—
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v FM2 0l0f7| 9 sites (F2 1o LITE of o[of|

SE21 ol H2 1Y0IE E0fsk= GAtel 0l0f7 YL
=

ct. =l=1 = =01l Floll 2ef0lef == CixIAl g4
Ct 0] & 0|22 1IU0l= HAE A% mlgtct, 221 gXk=
EFEE YU ol &, O= Z72/olM d2 1oIg &2
1, ez g2l U SdcE, HAls 1 10| tiZof
Aol EoE MEUCE 221 EAls 2 42 120§ =0|

21 gL}, 1o 22I0] 28 aY| wiof J= il a4|E =

= 5
YUt ZES0l & 2 sl2n, J= a9l ARS8 o

A
FlollM oMot 2354212 E&ULCE
=) A

1T
e
lo
=

Mt En s de2 o

1 OSE 28 QSN LAE QMY @ 28 44

N
oc
Ral
rr
>
2

3 EE0l H2 o2 FRol9 ARt 21 U= H2 1doIE
LA = LSO ZZo| 29] ofhel AN ZREE *

4 @22 Ber @ thal a4 Folct
@ BRE9| ARNIS 4700t @ JHS Zo| Alnsict
HIZH OIS SHOIN HAPH S010] AE & Flof S
= 20| o1Eel| 0] A Dol oAl oIS &
ACH= 22 958 4 Ut

@ The story is about a man who loves his black
cat, Pluto.

«{who loves his black cat, Plutoy= 2AICHHA
H2 HAF g manS £AIGIC

@& After this, the cat keeps avoiding the man.
ckeep + ~inge A& ~alck o <jojo|ct,

(keep = continue, go on)

@ He hides her body behind a wall so that the
police can’t find it.
+ (s0 that 304 + can(may)~)& 2XS LIEt=E
SAE0ICE

AnswerKey

+s0 that &0 + can't [= in order that &0 +
can'tl: ~5iX| ==

Reading 2 p.64

1.@ 2.9 3.0 4.0

Summarize the Text
(1) were quite different

(2) visited many places

(3) quite a lonely life

(4) excellent literary works
(5) they were women

(6) praise their work

f

SAIE SE0 ?Ither oy 2717t BO| AUBUCE 7+ fIThet
A7F & F G2 19M7] 271l Mel @AEDE ofd2| CiZiey
LICE O] & ofd2 R 74| TollM 2 FREUCEL QAR T
7159 LE0|R, B2 TFE0] AMUBHCEL TH=E o2 Fa
£ B g, C)Zie2 U2 MHSS DA 2UE
Lot 2oz JUsE &gt =HsUo of2ieh xfo|Hol
L =70l Os2 €2 2% UeeHH F AV 25 28
of ZoAfEe MEIXL, 52 g2 g3 e &
¢t 0lF= Hiz 50| KHAIRY7| U QAR KX
7] W20l 24°] 0|52 20l MO[X| AUSUCE. TIZIEO| 2F
2 27t F5 7| SRR} =X HUSHEL 2S52] AlCHof|
OS2 8ok R, =9 2= AIE2 289 AHE
= £Z88UcH

(EXETE))

1 @ 2kl i ol=517] S
@ o1 Z7toll cheh 2Lt Sk
@ T Tplel XHBS M| W
@ 5 Zplo| X2t 42 BlTEP| 9

fate= ‘29, £ 9| olnjoj1, SO/o{2= ‘destiny,

Answer Key

—
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fortune O] QUCH,

3 @ © @= ol Cjzizof thgh HFo|ck

@Y There have been many great female writers
throughout history.
*have been2 SRtz AlM=Z LAHRE FHXH7}
X2 ALS LIEHAT,

(931 4 Despite these differences, they shared the
same fate.
+ despite + AL despite= MXIARZ ~OlE £
251w o ojojo|ct,

(despite = in spite of)

@Y Even though they weren’t successful in their
time, all writers today admire their work.
«even thoughe YEE LiEE FEAE =2
HIZ ~O0|X|2F olct,

(even though = though, although)

Vocabulary

p.66

A 1.literary 2. fake 3. scary
4. patient 5. share
B 1.® 2.0 3.@
C 1.tear 2. medicine 3. publish
4. female 5. insomnia
A 1.who 2. despite 3. Even though
Answer Key

4. so that
B 1. which-» who
2. Despite of --»» Despite

5. embarrassment

3. Even --» Even though
4. such -+» so

5. disappoint--»» disappointment

Making Sentence

A 1. People who like to use their right hand
2. they no longer suffered from insomnia
3. so that the police can’t find it
4. Both writers produced fine literary works

5. weren’t even published until after her death

(EXET)

» Vocabulary

A 1 & 1ESWE B S0f 28K 28 M= 2PPY
=7I1S H3ict
2 O B AUeRE UHe s 7IME FEE
UL,
3 OI0IS2 DA, OKEAL, 12/11 OHE M2 NIESE 28
Sk ACH
4 X|YO| B2 SA2 EAC| HE 2|52 flohA HE0MA
SIZ=IX| =L,
5 4= 347 RS W M F2l of2] oisdSa el 2
Ho| gs SHIUCE
B 1. siM52 159 SXx|9| Hatst XIS LUt
@ g=ret @ EitHe] Q TE @ HIxEt
2 0|H2 2lie| 28E ZEXIE 4 (e d4e ZHlolT,
O g 02 @2F @R
3 RElE XM 0052 w=sols 29| Al thall g2
=

rh
0
ro
on

©
~
A
o
O

C 1. tear: ZH= ZTotg7(0] =2} LHCE LEFCEH
2. medicine: 152 &EoAL 2ES X|=ot| ol Als
= =2
3. publish: SAXMQI o
4 female: 010 S 4 QU= Nt 2AE

5. insomnia: (of) &S Xb7| K2 sl S4

H
H
]

=



» English Usage

A [5HM]

1.
2

. dd=

. Despite + BAL despite=

L= nsstu Bt IAE oads OfEh
22| EAlE ©
QefE 7
HIE Jdes HYE DjEX|eE & »7t gl

x21e) 71

2o

dEs2 E&cka

[m]

b5tk

[ud

SAZAE, L7t 2

r

ofd

— —
nx
iz

rx
oot
~
N
>

u
=l
El
M
N
e
oY
40

Ol BACHEAL who' £

s

ct
HXINZ FHoll AL L2
Cf. (though + F01 + SAL F0{ + SAD

. Even though + &0 + SAl~: even thoughe Y=

SEA:

2 Fofl F0f SAH =L

. {(s0 that 301 + can[may]~)= &g LEU= #1122

cc O
~N=

~5t7| ffstof 0|k,

(To + 274 + 283D #elez ZFys UEls 8

AP LIQLOF BT,
HAd]
L MAl= T 71X SIS Uot=s AIRES ZO0F8it
0| LA aM=E EAE = 2ZAZIX| otct
J= HIZ Hoelo= Efo{iX|et 21 HUE6kK| LU
&= NUS 27| YN EAIZ 0JAF 2 ZHIE JiE
L7 MARE, D= W LS of 2UStAF STt
Had]
| AMBHAE ARYO|T FZ{0|22 which THA] whott 2
HFE ESO|Ct
. Despite= HXIAO|ZL S0 ofE MEfsHoF BTk (=in
spite of)
5 M XS ok AP et opjy g

T&AE even thoughZH 2SiCt
2x2 LfEfLHE HBZ (so that 01 + SAlcan, may

AL disappointment
7t gt

» Making Sentence

A1

RELEE MEdle MEFHEE HHlEs 2 i REXRE A

CH Euct

AnswerKey
= i 20| ol ARS0| ZNIS0| s EHE0
2 MEU| Yot Y
Z2S0| 2 300 Bl2im, 1= Ouol ANS ¥ S0l &
2
S 2} 25 86 PORES HTAKEL 152 e
MK RYBSLIC
Cl7ieol B L7t S w7bK| STER} EIX| 9t
s

CHAPTER 4

Social Studies

Unit 1. Communication
Vocabulary Preview p.71
A 1.emotional 2.insect 3. solution
4. attract 5. end up 6. suggest
7. protect 8. independence
9. information 10. tongue
B 1.b 2.d 3.c 4e b5.a
& oy
end up 2= ~0| =C} tongue &
insect =& information &=
protect #saiCt emotional ZH=!
attract O{=A[7|CH independence =2
solution o &2 oft suggest X2fsHct
communicate 2AASS SiCt  different CFE

support A|X[S=]sICH

focus T&aict

come up with Z0fUiCH L=

—

Answer Key

21
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Reading 1 p.72

1.@ 2.® 3.3 4.Q

Visualize the Text
(1) information (2) independence
(3) solution (4) emotional support

(5) share (6) understand

A= M=z 9

)
Ao
i=
Rl
FO
o |jl‘
E
0
g
i
ox
HI
M
9
=
_>,'_
I
1o
n
u
0x
njo
A M

EfOlXIR

EfXI0IA Ol0F7 (STt 7HEsH SAICk

am "xhs 7tset “HE*EI ofiZ Hots M= ol g 2 A
F

Sof= tisiE aRtsLCH

(b) Z2iLt, 072 T49] ZFS oAl BLCL s a4

7t Hote A2 GMAR! =20(X], siiZ20] ot7| mhEuct
(c) 2= ©R| G X9l ZHEE SRFola, XIS OlsHsh
F71E di2ks AO0IXIR. (d) OIXE, M2 THE 2MAE &AI0]

ZEZE HOIS0| MZ2E Q== 0|11= AL T

(EXET)!

1 @ theh F0I= o2 Z7EX7F U

@ GRE2 TE Agut oo | of 2AIE HElske Ao
gselct,

@ EXeh txte thels SsliM 2529 =XIE si&skzn
L=2HoF SfT.

@ SIS MO[9] 28li= M= THE MRS A{0f 7[218itt,

b Ml ErQOIEH, e

Zo| FH2e
ol Azsin ek

|
=
| TRA BF g1 2=

2 @ A7[siCt @ ~2 Pl MLt
@ ~0ilM THE Xz =20t @ ~ofl L&sict
SolCl, =S WL 9 2ojojw, S2/0]

Y—oO= X

focus on2 7
2= ‘concentrate on' 0] QUCH

3 OIXIE0| Hoks A2 M
2k= L80] A=A,

ol =20[x|, SHZAS OfLICS

EEEACSIEL]

ZHS M5t Sict |

Answer Key

ZO{Tl 229 thise @At sifZ&oH We| Lizoe] ofn,
a2 MAl 2oll= ti=ls JPts= A S X8l a2
(b) O[StIA GIAPZH SXE2 OIRE MAlStE ez
02 2&2 (b)oll S0{710F HEsiTt,

]

@Y We often see couples who end up fighting
because of miscommunication.
+{who end up fighting ~)= ZAHEAIEZ H
At couplesE 4=AlSITE
«end up ~ing: &= ~otA =t
* because of + FAL ~IHE0]

&Y Why is it so hard for men and women to
communicate?
«it2 71504, for men and women 2J0JAN 04,
to communicates ZI5=0{0|Ct

@Y Then the man will focus on coming up with a
solution as quickly as possible.
- focus on: ~0i| RISt
+ coming up with focus on2| 2X{0{0]1 =2
~g SoHHC}, Lisc olct

+as + S2AEAN + as possible: 7F58 ~3HAIE

@& Itis because what she wants is emotional

support, not a solution.

o ZACHHEAF what(= the thing that)2 ise] Z040]
Cf.
+ (B, not AY= ot A but B'2} 22 2ojo|ct,
Reading 2 p.74
1.@ 2.0 3.@ 4 @

Summarize the Text

(1) communicate in a variety of ways
(2) to attract mates

(3) use sounds to talk

(4) many gestures to communicate
(5) where to find food

(6) when they get angry

—
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AnswerKey

=D

=01 2= € 4 Qo= A2 AMOXEH 252 o2 K] @Y ltis true that animals cannot talk, but they
dH2 AMASS HLILL 2, B2 S=52 M=o/ 0[0F do communicate in many different ways.
715t7| flell MR AelS 0IZsiX|e. B2 &7 2552 | <12 7150], thatES zIZ=0{o|ct,
= F50M ¢ U HE=s UYL 22 SUet AMS - doldoes, did] + EAIE: EAF 24X Bloz
= 2l B2 =501 QeliME olggUct Jalar a1t do= =AF communicateE Z=R3iCH
€2 UREQ Hith SE52 M0 olop[at7| fleh A2l (do = really)

S L
OE%:E EL oo :37; ° hz':' ELO = - @XY Animals also use a number of gestures to
s==c AMASS o] Rl B2 MAXE AEELCE (a) I
7] & 7tX] olS0] UELICE E2 SA0] A= XS THE ol o ber of 4 SEABIABOIA oer of=
A 22izr| Slatl £2 SUCHL (b) 7RIS AR EEISH] Yol R
il 22 42 oFF M many= SRlolE

«to communicate= 2HAIS| EAN SHo=z
OMAES 57| s of ojnjo|ct.

@& Bees dance to tell other bees where to find
food.
<o tell2 RHAR BAR gHoz =X(~5}7|
@[5104)S LIEFACE
(el + X0 + =X0) FES2 ‘where to
find food = SI2AITE tellS] ZX0{0]Ct,

(EEET)!

o = [ o Ol
1 @250 22 g += QoL 159 U8 "og &

Ut
© HEEY HiCt SE51 2552 M20IA Lot7| 2k i .
M A2|E olgsict Unit 2. History
Q@ U2 =52 W N=AZ7] *ciM Hz=E2S AERICE
@ S2E2 WA A2 MAME ZESH QAAE HHS Vocabulary Preview p.77
ZEXI Qe
2o FH2S & wN 20|, #ol= animals A 1.servant 2 .empire 3. earthly
communicate, smells, sounds, gestures S0ICk 4. decision 5.organ 6. belong
2 @ o2AP(c 7. government 8. decay 9. tomb
© stofsict 10. preserve
® mlaict B 1.c 2.b 3.d 4.e 5.a
@ MEHSIC
attracte 0SS B0, Bi2AZICE 2 2|ojo], seloiz= & o3
-1
‘charm, allur | to' 7t T ,
charm, allure, appeal to 7t 2UC: belong ~0f %3lct earthly H%(0!
3 TE®Uoflat Srieh AL B3t 22 S25& HEES  decay Rt servant 52|
0|23iC) T AZE |t preserve 2Z&oiCt organ &7| 71
tomb F2 empire Al=
4 [0 # 71X OIS0l eI, | government &% decision 2%, 24
(a) Ol5k= =20 2MASS 57| 2l ArZshs B2 MA ancient Tchol wrap Mt Zasict
MO TR OIAIZOIC et =0T 282| Yotz K| expert 27} modern 3CH2|
= (a)olct, treasure 2=

Answer Key

—
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Reading 1 p.78

1.@ 2.3 3.0 4.
Visualize the Text

(1) decaying (2) organs (3) Drying
(4) oils (5) cloth (6) pyramid

=D

21 d FZ0F oit] Al 1o OIRERIS0| OS2l AlE
ojofz2t= ofEA x| SZohRct. olof2tst= =2 AR
0| Roizl= A2 = AolCh ol S W, 19 4lets
HUD AAO| AXRE|EE Sto2 M 29
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OIEIOISE olS01Ae) Hol A5
DIO} 5t AfIO| SMOIN B25] B2 U
o CHA] Efofid 7540l 9IS Zolct 2
SHIZIol YRI5| oiBalofet &t Zolct of
S S0t 0IRENA 0j0[2tat A8

el
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o

Ani

>
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=

o 2
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o
roh
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b b H
Im
oT> :

F\I’ I

oo un
o A
no 52
go 2
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Ao

2

4>

FZE

on

N
=
Inl

(EXET))
1 @ oy

2 tez AU EX2= A0| ofzt 7I§ez ARE ZX

£ct

3 00 OIYERISE 0IB0IMQ] 0] Al2Q] At of RHTf
o it

4 DS AR @ as9 24
@ 2s9 mej= @89 2
g7t 032 OIFERIS0] 59 AlMol| CishM =2 Al
1t glg 521 0IRES AMAlet ot matd BiZtofl= 1
S| AL 0] 7h XEsick

Answer Key

@Y For hundreds of years, modern societies
have wondered how the ancient Egyptians
muminified their dead.

+ have wondered= SiXlizta AMZ AlLES LiEE
L,
« ¢how the ancient Egyptians mummified ~)=
QI2AEZ SAL wondered?| SX0{0|Ct,

@& Mummification keeps a dead body from
decaying.
« keeplprevent, stop] SX0{(A) from B(~ing) :

A7} Bote As YT Yalistt]

@Y 1faperson did enough good things during
his earthly life, he would have a chance to be
reborn on earth..

Z0f + TASAR,
H o 5

F0| + ZSA B THY

+to be reborn2 a chanceE 4AISICt

@ This belief is (the reason) why mummification
was practiced in Egypt for thousands of
years.
swhye 0[RS LIEH= BARAIR MA} the

reason0| H=Fe|ALC,

Reading 2 p.80

1.3 2.9 3.0 4.Q

Summarize the Text
(1) sank in a storm

(2) lost their treasure

(3) found the ship

(4) wanted it too

(5) who gets it

=D

17554 108, AHQI9] & A Ml ZHA S I&3ct 1
= =E29 ol 2t Z2|HEANotre Dame de la Deliverance)
S FA M 2 1 Hi7t SO IR EE] AnRIeZ Z

—
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ot CIE HESS 7HAQUIE JRICL ATR! ARSE Q7=
o=zHE HES X tiols 2 EE50| QACH AR
MNZES 437Z223H9| 2, 15000719 Zsf, oA AXtol &2
Al 2[00 WOt R0 b= 25HE Hof AICH 17553 112 1Y
LESYH O 2 HelHEASE B2 S0IM 712t 240 HFICE
AMRIR OE0| HES 941 UC
20034 1ol 0j=el 22 37| S|P} g Yot 3 sjA
O 0|2 ME Al 2|MX|(Sub Sea Research)iCt 1=2
2Rl HiE A= MEVKIICL LEEF O 2t HeltEiAsE =
2 200L|EQ| Z/ojof UACE 22 E22ICHoN HEe2 40
OF Rl 2o|Uct 254 ol = EE2 30 Z2{e 7t
X|7F C,
ME Al 2IMX] A= 250| X E Zd0[2h A2igict a2
Lt AHQl HEE F2 30| 2ol 22X MZict 052 &
A0| HIZE nEJCDE 11 HES ALQIS] Zi0[2t ZUCh M
B Al 2IMX] 3A = ARIS0| IS t”745“7| EEHT |

A150] Zolakn FAT o5 M

=,

(EXEE)

1 @Y7t A= @ 2|

Q@ E=2 fIg M= @ AT Y HA 3M
= =]
=

P =22 Y=Y 2T BEs LUs ME Al 2IM
X =lAet B29| ARPES FHSlE AHQ HRLAO| M
= OE =0Ick

2 22 @ E=22|tt @ Y7t @ ME Al 2|MK|
LE=F o of Z2H2iASo| BE(gsl B, 232 &
HRI0] Y7 =S 2R E ZETH 20T,

=

S22|0h X HitolM =E2F O 2 Z2jHfgiAsS

3 e Al EINE| BAPH B89 ARES FEE 0|RE 1
0]
22187| Tj20ICt

37E 2 ME Al 2IMX| SRt ATl HRO| BE AR
M0l 25h LHSO|CE XIEe] SA7E ==X 1710l, (30
210 sidste 2=017| t2ol) A= 0 SR

12

i

-

AnswerKey

€& King Charles III wanted the ship to take gold
and other treasure from South America to
Spain.
swant + =801 + SXEHO|(toF
=x=0fo|c}

HAD: to takee

@ They said (that) King Charles hired the ship,
and the treasure belonged to the Spanish.
+ 30 + SAt + =H0((that + 01 + SAP: that
0| SH0IY [ &AL that2 = 7FS3IC)

@EY Whoever gets the gold will be very rich.
* whoevere= MHAIS Zelotn A= HAANZ 2

=
XI’O| = Oj|5l—% 5|._—p|_ |-

Unit 3. Global Issues

Vocabulary Preview p-83
A 1.difficulty 2.violence  3.lower

4. election 5. describe

6. communicate 7.harm 8. contact

9. landfill
B 1.c 2.b 3.e 4a 5.d

10. development

& o3

describe ZAl 7 [z]alct
difficulty oi2is, =4
lower =L, LH2|Ct
communicate 2AASE st violence =
contact [ EZ]
opposite £
receive 2 2OES0|Ct

include Zgf5iCt

landfill oHZX|
harm s, m[ah, &3l

development 2%, 8%
election M7

silent ==t 252

|
protest 22[[BiCH], &f2lsiCt

Answer Key

—
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Reading 1 p.84

1.® 2.0 3.@ 4.Q

Visualize the Text
(1) back yard
(3) the price of houses (4) front yard

(2) building projects

(5) development

(6) earned a lot of money

(A) NIMBYE “not in my back yard(Lf Holgof= of =i

ZURULICE (a) 2AE X9

Al=lofl el Bithsk= AISS
=13

AR

;
7 2H0| SX B89 722

== ZELCL (b)

10

M= 0] A=loll=
4=, A27| oiER| T2 EHATE LefE o AL R
£ (c) 2RSS oftioll X[ofof & X| HEfsk= o ofiEs 41
Lot 24 m=0ll (g8 2&2) of Al=S0l thall 2ithok= 27t
27 M, MHE2 IUS0| S ShE = AT AYEY
Ch ZAICE7E (d) RS2 2K & 71AE SIEAZ 2= Us
=

2)Lict o] BESS

S
JEOI 2l Ilo“‘Ql JHofl thah BITHSHA] iU B8 252
JHol chet gz FRVIE Al U oS S o=l o
ol Y2 Apelef eI X[Holl 27| oiEiXIE dddske A=
AHolRaUn, ZaMez, I XY Aele U2 =2 | &
UG

EXER)

1 @ g2t &l @ Hulo| ¥Hs
© gHlol =Bt e @ S3H 2
9] g9

(A= EHINIMBY)2
oot EXE 2 20|t

et EXE B HU(PIMFY)S

2 O 2NN
@ chAlof
in return2

© ~0f tfst 2ye=
@ (~ol theh) =
~9o| HEE]e® onjo|n, SQ0Z= in
reward for 7t QICH
3 @ gy © & Aol
@ &=, Xe7| ohRX|, 22| WHALL 22 A=
@ FRoIM ol= SFES

(o) they= 242, Mall7| DHRIX|, WHASt 22 £ RO

™
MHo
njo
ol
rr
N
ot

140

Answer Key

=SS 71120

4 O =2 AssS 1 + U =t
@ 2 XY M= B2 =2 g =Tt
Q 0IRER HFE == & W =t
@ = o2 Z2RES 2t
HIZh 9f2 of Eo| JF0| Aptlef @l X|of M7 ofEX|
£ dols A AHEoIRtiE WEO|T watM, Bz 1
2of oot g2 XY A7t g2 4 Us KR! 019Y
= 75 & Ut

@& [t describes people who are against certain
kinds of building projects near their homes.
« 34 HAUHA who= M™AF peopleS 4415

ct.

@& The government has difficulty in choosing
where to build them.
« have difficulty in ~ing: ~at=0l HHSS 2t
«where to builde SlZAE2 choosing?| =4

of BB Bt

@ These groups are not opposed to

development in their neighborhoods.

*be opposed to + BAHSHAN: ~5k= S
CH3ICH (= object to)
Reading 2 p.86
1.@ 2.@ 3.© 4@

Summarize the Text

(1) fun ways to communicate
(2) to make people silent

(3) to report on the events

(4) came up with good ideas
(5) sent messages to people

(6) what happened in Iran

=D

H|0|AS T} OO AH[O| AL 22 QI J15 MH|ASES FHtSnt
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200 EEEsUn © MAE
LoIt=Al 2 EUASHCE EQIEE 02 ARSHIA & M

ol 2A2|E Hef FUSLIC

(EXEE)!
1 @®SNSSolz2 HS © SNSQ AElH Heid

@ OIS Bol Ale| @ o2t o)

b

cut offe "Bfalisict
f

block off 7} ULCt,
3 @(a) — 2o = M|A @ (o) = MA
@ (c) — L& 02t A= @ (d) — HIAIX]
(b) thise= & 2&9] 2l F= MHIAS0| MM HEE
F1 Yh= "iAS HERCHE AR S 712|710
4 2t

RIS0IA & MiAlel 24212 Ml =UsHCt
PS Q e

tefE Afolol B2 =X

o

Lo EIZol= M AlFS0] EX
HIAIRIE = 2| BES0l| et LZ0| L= 20| HHEsiTY,

2 4y

@ But these services are also changing the way

(how) the world sends and receives

AnswerKey

information.

« {the way (how) the world sends ~)= &AL
APEZ the way (how)= WS LIEHHCE

o AEAL howet the wayS &7 AFESHK| 4=

Cf. (NOT --- the-way-how the world --)

The government did not allow the media to
report on the events.
«allow + =80{ + to £&8Ato report): allow=

to BYAE SHE0Z Z=L,

€Y Then some Iranian people came up with

ideas about how they could let the world

know about their situation.

«(how they could let ~)2 2ZAEZ FX|AL
aboute| =X0{0]C},

« (et the world know)0l|lA] let2 AfFSAE 2
EEMNE SAE0ZE 20

p.88

A 1. cutoff 2. protested 3. ended up

4. suggested 5. opposed
B 1.® 2.0 3.2
C 1.election 2. preserve 3. independence

4. organ 5. attract
A 1.whattodo 2.what 3. Whoever

4. write 5.1t
B 1.solve -» to solve

2. that --» what

3. whatever --» whoever

4. to stay - stay

5. That - It

Answer Key

—
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3. D|Z0A] B0l AIZIS —TLEX| 02 ARlo| = 4 QT

4, M2 X 20l 1S0| ofM0IE EMGIES St
5. AIIS0| S22 sitisiziLt Sele e Tolsich

[aad]

1. ‘Wwhat to do' £ QIZAIRE SA} asked® 2x{ofolct

EAHEAL what(the thing which) 2 20 304,
3. spend so much time and energy on 2x0] H0jo| HBIS BiCt

A 1. to get feelings of closeness and emotional
support

2. smells and sounds to talk to each other

4. has difficulty in choosing where to build 3. 2 whoever= ‘anyone who' 2| OJn|2 AaHA}
them £ m3foim 9Tt
5. about how they could let the world know 4 ANSSAt makez= SHENZ IR Mwrite)S 2201,
5. (It - for + XA + 0REHA) FEOE 71501 10| H

Qo 2F0|Ct

— =
EXER)

» Vocabulary

B[]

1. 2= HolAl 2 2SS sliZste WRs MAIZ Aol
A 1. 09 M Fctet AS0f ofsHM STHERIC 2. TE= XLl 27t B 2 2 40t gioict
2. TASE2 AT BEet =2 7HE00 et 3 L= W Y mEjof 2712 Rlots AIR0IH S5=X] =
3 Df2kE0| B 20, ElLk= AP[Q] 2E Blg 2= AB tHet Zdo|ct
Act= A =7t 4 = shds0| gutof Hofl JU=E 3k
4 U7F oA 322 e o, 2= =ME siEde & 5. Lol ZCiere BIHCH] O ChysiLt
U= R 7K LES MOt [5HA]
5 U2 AIMS2 HAER UtiAol 2 R0 #HAE U 1. SJ2AE how to solve 7t SHI2 HE0|CH
4 ZES TSIt 2 MYME Z3ED Qe BHAUZA what®2 SA}
B 1. 1l cjotelsel sist Al SR3t #slS0| CH believes| =0] S St
@ &Ml @ e @ Tojeid]e] @ sichol 3. SUAA whoevere ‘anyone who' 9| Q0|2 A}
2. U= 1 2olo] IS FSH o & 2t Mz i invitee] EX010]E,
o Zn= JHNITH 4 NASA makes SHEOE FYRHYAstay)E £0F
5 githel @ =9 @ Rttt @ M=ot 5 (It - of + XA + 10FEAD F22=2 71501 0] 2R
3 235 E22 & Jix| £25 Ao HEEUCH B SOl
@O ZARICH @ S Q@ AUCH @ =FAC

» Making Sentence
C 1. election: 0] YL AlEE EEZ &= A

. N o . A 1 tishe 2Lz HAEO =28 7| st wWHolct
- 2alo A = HH=
2 preserve: 9 P& T2 {XGHALE #GHK| & P —— 0105 51| SlaH Lol As(=
Sict 2 U2 =52 MZ0I OloFr[etr] fel HMRL AnS
3 . = Al | O 2= & 4 oreer
. independence: CHE AlC| == Gl0 = &
e -r T 3.9 OFEIEQISE 50| Aol Chs 22A| B ARtk
o= =2 M=
4 organ: EFo 7|52 ol= &= WS off 71 _
Y o - 4 FF= 0SS 0Cjof| X|ojof & X| MEHSI= O] O2iE
5. attract: O ofl Ar2fQ| 0FSS 25| AlZ Eol7il oitt N
= gyt
» English Usage 5 U2 0|2t AIMS2 OE a5l HES Mol &E =+
A USK(of et M42ts mEC
[aHA]
1. 1 oj0|= k=0l 22 &lior XIS a0l SUCE
2 =2 = A2 I Aol W7t §EE Hok= Aol

Answer Key

—



CHAPTER 5

Unit 1. Region

Vocabulary Preview p.93
A 1.vacation 2. benefit 3. northern
4. mineral 5. agency 6. tropics
7. geographical 8. entire

9. spa 10. rainfall
B 1.c 2a 3b 4e 5.d

& oy

northern £%9| entire T2

tropics SCHXIEY] rainfall Z<(2)
vacation &7}, glst agency Ci2|&, |
benefit &=, 0|5

mineral 2=(%), 2712

spa =% &H
geographical X|2/(&h)e!
vacant H|0{ U=, gl
continue AL =CH X[&S5(CH

perfect 25t
healthy 715t

experience itf, Zgloict

Reading 1 p.9%4

1.3 2.3 3.0 4.@

Visualize the Text

(1) the Dead Sea

(2) lowest place on Earth

(4) skin

(5) salt and other minerals

D

(3) clean, clear air

AnswerKey
olABlUTH R2CH Aojofl YIXIBH AlSE XITAOIN 7 e
FULICH (a) 0128 WH20f Of2 7Hx| B0|2S XIS Sxu} A
2ol Ralst Fo| UsLICL HWE, 01RO B7l= o4 st
D UBUICH TR ORIE2 O70IM B o £ 22 & 4
QUBLICY, 3 30| A2 251K YOI 0220l Mo £
UCk ORX[StoR it AR AT CHE £7120| i S22
Lck 712 222 QM & ZXI2] 0f2{3t SXS0| B2 Al
7h 21Tt IS HY 4 Qls B FAC ORULICH Yl W
0| UX| 4oL, 2 MaFA|L]

(EXET)
1T O M2 @ma 7N @& @ Fg HE3M
ZO0| OHItM F7HE 7HX| Rohs UAMS0IA 71 AT

2 Fole dud 200k

2 O EEe ¢y 20t © O 7Het 371
@ XIFHollM 7ty H2 X @ 28 A OeE 27 1E
(a) thise= o BEOIM AZE XYM 71 2 X2
olojatct,

3 ‘Finally, the sea itself ~ " 0A AfsHol= At 27|20

SFolti AF=UCt,

4 O el o &0t
@ 71=0] o =t
@ O[20ilM 20| it = QAT
@ THRES| AlZES AUfoll A EL{oF St
Z0] Ol IMEE dt=z of 4F0[7| =0 S0l Lot
X2 As

2hM OIS0 A=E0[X] 1 ECh= LHE0] S01710F SCh

@ Found between Israel and Jordan, the Dead
Sea is the lowest place on Earth.
«{(Being) Found ~) 5% BEAIFES=2
Being' 0| AZFz|RACt
(= As it is found between Israel and Jordan,
the Dead Sea is ~.)

@ These features are the reasons why the Dead

Sea is the perfect place for a healthy vacation.

+ 0|RE LiEtUE ZARAL why= the reasons2
MAAZ ZE=C

Answer Key
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Reading 2 p.96

1.@ 2.® 3.3 4.9

Summarize the Text
(1) in Northern Alaska
(2) for the entire day

(3) for almost 6 months
(4) warm and sunny

(5) the dry season

(6) because of the rainfall

M AREE OAE ‘“ﬁ”OF 2t %Ei

= 2 AMeslt 2= Al ofuh?

olo| =0/
BX| DO, L% O} LI w2siot ol s

Al Ut (0) Ozl
ko Z710]

(EXET)!

1 O =LA @ F2 M Q Hof

<
L
2
%
N
gﬂ
il

(b) this= & 259 CTETNEPN,
Jelziet,
2 9 20IM UH Kol ARIS0| B SIMS FEE 4
UL 2= UE2 AF IR SUTE
HolE= a7t X

Answer Key

@ 717t 2UH H|7t B 2Ct,
@ MNES2 7F o2 Aol B8 8412 Flei,
H

A

17t of EEoiM= B2 82 Mol ishAM 0loF7[etar Rl
1, U5 20lM=s 40 tief 007 |E st 7| iz
of giZhoil= o] &= E&E 0|05 = UE0] 2o s & &+

@ Why don’t you come and experience it
yourself?
«(why don't you + SAIRE~?= BHE HIS
2 '~sh= Al ofui?" | ejojolct,

@& You would love the tropics, where it’s always

warm and sunny.

« BARAL whereQ| AL SHOICE (= and
there)
Unit 2. Geography
Vocabulary Preview p.99
A 1l.explorer 2. flat 3. harmful
4. edge 5. history 6. journey
7. chemical 8. ancient 9. reason

10. environment
B 1.b 2.d 3.a 4e 5.c

% ofg

reason O|%, 0ld history <A}
ancient 1049
harmful si=2&
edge 7HXI2|

journey 0424

explorer &7}
chemical 3t 22
environment 24
flat ngé; HELSH
protect £S35ict
adjust 2F[AH]oiCt spread Zx|Ct
hardship o{zig[z2
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AnswerKey
Reading 1 0,100 X Qlotn ooz dalHo| I2E A itk X =
' 28 4 ot
1.@ 2.@ 3.3 4.©®
Visualize the Text
(1) melanin (2) strong sunlight
3) darker skin (4) lighter skin €T Today we are going to discuss the reason

(5) natural environment why people in different areas have different
skin colors.

* be going to ~: ~&k of|™olct

[ 228 + (ihe reason why + 0] + SAbLE EZRARY
s ek ol T XS0 A= AlRIS0| M2 CHE 1| 2 0|RE LEHACE

7PREXI0f Tholl Of=sh Bt SR, JAE Sdll 2,
MO RS 7 AFS2 URE 0 2 01 &%

Tof, &2 Mo| MRS 71X ARE2 F2 55 L2

>~
=

2 H
4n
MO |mjo

@ Throughout history, most people with darker

<2
=0)
rx

skin have lived in very hot places.
« throughout history: SIAIS EE0

>
20
B

= .
SBCE, mIAHol 2 Xio] LS a7ia? Algel sof= aus * have lived BIBIZ AR A4S Liekic
© defol2tn 22l= SEEH0| AXR. A2 SRR HY
S sAstoz M AZIO| TIEE B5lE LS X0 Al AR € In the human body, there is a chemical
So pro siple e si=r 1 0j9= J320| 30| O called melanin, which is brown.
2 25P7| H20/0IR. T2ILL SEAIH0| M= ARSS Haid r{There istare) = 00 7Ees F0i=
2 201z Wee S| gd, 1 olekl 0l H7| 2ol chemical0l i SARS 1s01E:
202 C}2 TEMS Xjol S| XS5H| olst B skHola) * called= I7HEAIZ HAF a chemicalE +AlGt
2 0012 4 Uoie o

s ZACHEAL whichel ALY Egez MlA=

melanin0|C},
(=8

@Y People in hot areas need a lot of melanin

1 @ R Mg H|%s Ples A
_ because the sunlight there is very strong.
@ AZE0| THE mjR MZ 2h= 017
. * because= 0|RE UEH= SETLSA0[CE
@ HafHo| A=) MAofM BHE0K= S
@ X EHo| SRS 0l
Q| 22 AIRE0| CiE IR MS 2= 0|z HelHo| E4
2 g% ol .
R Reading 2 p.102
2 O Hatd= Ao sesict
@ Ol NS H2iHZ Tl 41T 23t 1.@ 2.0 3.@ 4.0
@ 42 EL%% SiEle2 O £X| E)éh:r 8ummarize the Text
CIE X[o0 AF= ABIES M2 CI2 n|EAMS 71| o0
@ I'n_ X|ﬁ0'” I'n_ |':|E|_ 14% I'-_ |_|_—|E 7|‘X|—|— A I' (1)the Earthwas ﬂat
gIZh Fofl 00iXl= 2ESE2 THE ¥l Al—S0| M2 .t .
(2) changed over time
£ OIRMS 712l 0l/S Mok ATk
(3) was actually round
3 ¢ 20iM gefHol 22 WS S4FeEM AR 1]

(4) returned three years later
(6) faced much hardship
4 O XH0llM Atz AlZE2 TRE 2S5 Pl 2 & (6) through his journey

2l 7K U, S20| Als AIES H2 Hatds It

4T
i
&
ro
0~
rr
oy
0
=
re
il
m
:Q

Answer Key
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S0 =2 XF7F AR Y02t SERISLICE AZI0] XLt
7K mRSLCHE 2

BEX] EUABLICE O] AZl= &
|.

27 =
<c> o= o 7‘;0| -
3 o SOIUBLICE 25|, Bt Aol sfot 18| MRS
0] 012 4 UABLICE T RS (o) 250] ofgtsts SOt
XIH

E2 ofizol AEI| HzYuct

EEETR)
1 @fa
(¢

) -
) -
(b) this= ¥ =&<

NS @ (b) - X7=
Herde opdgt @ (d) - MEs

(Rl

[=]
=

K7 @oleks A & Jtelzich

2 O X7t ™ot Mzt
@ XIT2F A Y= it
B MM AN HHoirtn ZHICH
@ XIF2t o2 MZi=X] 1 Ut
BIZF FO] LI “this belief in a flat Earth™ &

==

o
1

EaiM X

Toh BEsICED M2RE MARO| ARZIO| RILPIA HS
2 MsH 22 U 4 Ut

3 OpgRlo] AAE 2851 | Fols ATVt HEUS SHEHK
RHYCHD Yoo DpYRtel IS SaHA XTIt Folt
S ANE UBHSS o 4

4 © 2 ORI 22 S OFERIT 10 MIS0| 2
Of2iZ0fl Chat 0l0F7| B ZRUS U 4 ULk

@ Thousands of years ago, people all over the

world thought that the Earth was flat.

TR0l T AFIS 9] Uo| LAE X

Bl

Sb AIES st 20i + SAlithought] ~ + =t
7 AEE UEILE AL [ago, yesterday, last
night]

Answer Key

@ Astime went by, this belief spread
throughout Europe, the Middle East, and
even to India!

* Ase AlZES UEHE=E S& HEAMOICE (As time
went by: AZ0] SE2FHA)

@ Thisis (the time) when Spanish explorer
Ferdinand Magellan sailed around the world.
swhen= ARIE UEH=E 2ARAEZ HA

the timeO| AF=|ACt

p.104

Vocabulary

A 1. hardship 2. ancient 3. flat
4. adjust 5. vacant

B 1.@® 2.0 3.©

C 1. mineral 2.rainfall 3. benefit
4. environment 5. spread

A 1.because  2.when 3. why
4. because 5.as

B 1. when - where
2. because of --» because
3.If-»As
4. but --» because

5. where --» why

Making Sentence

A 1. why the Dead Sea is the perfect place
2. where it is always warm and sunny
3. because the sunlight there is very strong
4. they would fall off the edge of the Earth
5. faced a lot of hardship during their journey

—
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(EXET)

» Vocabulary

A 1 0= XM SRS Shedl oS oSS 24X Rl

2 atol, MEtE2 a59 AEE R S22 Atdslor

P
3. 0| S| 0N L= O Ay fI0M 2 & 27t
e
J7F M22 sfuol MSok=d] 204 221X U
5. 2FE HA0= HIO| U= X217F SIRUCE,
B 1 0t0IE2 ZEo2RH HiR7| o6 2XiM ZEY U
7F T

O geolth @ siiE 7IxIct Q@ EEsitt @ Hgsitt
O

SEH0[ I =0l gt et siEMS

1. mineral: 0 XIHAAZEA SM=

2. rainfall: ¥4 717+ Y-S 2of L2

3. benefit: i Z{o2EH A4S 4 Qe =8 £ 0[¢
A

_environment: dS01A Fele F= A= AR 2|1

us
5. spread: O W2 A0 TSI O 22 AR &
aig

» English Usage
A [5M]

1. 27t BREE GoHRU| Mz 252 1 44
M2 R,

2 2 0i0lz F2AOAE Z0fst=d|, Ol 2 ==
f=3

M
ox

55

2=+ W WZ0|ck,
3. 7t TEJOf| 2X| §UE 0lF= HF HIY| T=ZO0ICt,

4 42 CiRN 2l MEIS
5. Li= 0] 4212 0fLI? "20i0l 7121 20[I%R HSahar
(st

1. dEM=2 A4S i 2t 0lfe R2E YoiHRU| Tz

El

=)
il
B
L]
x
o
(9]
O
QY]
C
»
D
]
|'|_|O
=
i)

=~
2. ZARA whenQl ALH o2 Mlil= AlZtE Q0|

3. MEAt the reason0|7| 0] ZAEAL why 7t 8¢
2 msolct

—

AnswerKey

4, because =0 + At/ because of + At
5. ~UR[XM] of LEHE LiEfi= T&Ak= asO|ch,

[attAd]
1. U7t 22 20 AB=|, H7I0M KSR E MH|7] St
£ Xz NS B

5. U= J47t QAtoliA| 2t 0lRE L1 QUL?

[5HA]

1. AR wherel| ALA o2 HAS O|0|5k= the
road”7t MAfO|CY,

2. because + F0{ + SAt / because of + HAt

3. Uo7t E0{71HA o] Yek2 FSA= asolct,

4 15 UX| Hot= Olges HAYE o] 20|t Mt
&M} becauseZt L35I

5. MAL the reason0|7| TE0 EHAEA whyZt LSt

» Making Sentence

1. 0J2f3t SHS0| HI2 AfBi7t 2125t £712 B 4 Qe
ek5t 2201 0|RYLICH
2.5 WIS 0| WS HCHKIYO| ORSo0l S Aot
G2 XI210| $#40| LI 51| T20| IR MRS
22 Watlo| Wesi)
4 NEES T50| LS B2 oS 518 XiT JKxiRlol
A

5 1 0lR= 150| Kdlol= S B2 ofA=0 ATV

M= LIEL,

Answer Key
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CHAPTER 6

Science & Technology

Unit 1. Space

Vocabulary Preview p.109

A 1.planet 2. gravity 3. explode
4. billion 5. Celsius 6. oxygen
7. meteor 8. survive 9. crater

10. astronaut
B 1.d 2c¢ 3.e 4a 5.b

£ o3

explode =250} HX|C
billion 104

Celsius &M

survive AOF=TH MESICH
planet 3

oxygen A

astronaut 95 H[&A} gravity &3
crater 23k

swallow &7|c}, S0(7|ct

meteor Fd
create &7ofCt PHSCH
occur YofLich ZAsict

core 5, oty

Reading 1 p.110

1.0 2.0 3.0 4 @

crash S=altt, £EX[CH

Visualize the Text
(2) 150 million
(4) four and a half billion

(5) agiantred mass (6) 15 million

(1) hydrogen

(3) eight minutes

%

B2 ofdolc), EfYel of 7BHE= £A2 0IR0{N UL,
I U= EE0ct 0] 7[ME2 XiEHez Zdst Kt of
LIXIS SSoHiTt EfY 3

gol= XITNOl Of e MES 4
2Lk HIZ B2 22| EA0IN Tk 2 SH0IXIS e &t

A 221t} 1 0lf= 27t EiYe2RH i Ha| EoiMRU7

u

Answer Key

MZ0|CH — CHEf 19} 5T Z=0lH BOMUCE HRL Ha|
HOIM UM Efe=RE 2= 50| 22/0iA =Hok= ol o
X|o1 8=20| Z=IC,
EHRF2 of 4591 Tofl AR EfL0[ A q
At 7140l 2 Aolck ©f Lol aX2 iR AMM JhE 28
oz Aoict, EH%F74|9| HE 852 HY
Ich XI=t7F Efel =S e 817 == ol 365
1EHO AlZIo|Ct EfYQ] BH2 MM of
1,500%F =0i| O|2LF,

o
o 28 a%e X

F&“
Bp

40

10
o
0%
’ﬂ
0

TN

Jor

oo
o

r
"OI

o 1o

noe
2
N
L
O
H
]
ro

o1
~
(@)
(@)
|.|'|
=)
I
o
0=
FIO

EXER)
1 @ Yol 2ot MRS @ 9] Al
Q@ EHYZIl 2ot AMdE @ E

=
9| 22 efesol Folof Ef2tel SNSS MRS ULk

00
é
10
o
%

2 g 2HolM, Ef0] ATE SO B2 HA 7Y
0l =lofM 7k et Rel WSS Holyziot = UE0|

UL,

A

3 A M Efye=RH 20] f20ilA =Z5k= o 8%

ZEITa 34,

[

4 CEiY Ql0I= X2
Of X7+ dExe| 2

@ About 75 percent of the sun is made up of

O A 24&et & SICF oM EfRt

2ol @xs5t A olr}

hydrogen, and the rest is helium.
< (EEHAKHIZ, 24 most, some) + of + HAP

7F FOIY M SAL] = A0l LXIAZICE
0f the suno| TH=017| [[H—roﬂ SAH Eof T
EiQ! isO|CH,

* be made up of: ~2 |t (= be composed
of, consist of)

€& These gases keep exploding and create the
light and energy.
* keep + ~ing: Al ~35ict
« SAt keept create?| 0= These gasesO|Ct,

€Y We're so far away that it even takes light
eight minutes to reach us from the sun.
+S0 + HEAYRAL + that + F0{ + SAE that2

HE=(ZI) & UEi=s S4TSA01L ooj=

—
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~&t He2 ---5iCf ook,
« it takes + SX0{(A) + AIZHB) + to SAFREE(C):
A7} Csh=d| BO| Alzto| ZHz2|ck

@Y When the sun is ready to die, it will become a
red giant.
« AZH 2AFEOIM 2iX AlMl= Dl2i AIMIE CHAlGH
C}. (NOT When the sun will-be ready:---)

Reading 2 p.112

1.@ 2.® 3.@ 4.©®

Summarize the Text
(1) need to take oxygen

(2) much weaker than

(3) feel lighter there

(4) shows different shapes
(5) hit the ground

D

Zoll= S717t it 3717t g2 2 oAM= =0|Lf BI7} L2
Xl ol HidE =X =0t f2l= oo =58 Mt
o

2ol & & MAT Qlth 222 25 HI™AS

o

]

oz Tr %

Ho
ar

r

P

]

AN

Pl

d

>

o

o

in]

=

ot

n

H

= 2
2

=
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2 ®5Z=a @30 223
@60 2= @180 =21

Aol B o] FLCH o HiLT i 2l A2
S35l 2 0, X170 30kg0laf3 ZolAfE Skgol & 2
olct,

3 X7t Efdur & Afojofl HXIMS wf =2&E0| ofLet 25
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4 =olM= 37171 QUI Whzoll 227t 525l & & 4
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@& So the astronauts have to take their own
oxygen to breathe there.
*to breathe= SHAR| 2AE EHoZ =&

71 SIBHA S LEHHCE

ol

@ The Earth has six times as much gravity as
the moon does.
*A His=Ab as ~ as B HiAR EEOZ Olnj=
A= B9l F HiZ ~olct ol

A full moon occurs when the Earth is between
the sun and the moon.
« between A and B: A2} B AL0[of

Unit 2. Zoology

Vocabulary Preview p.115

A 1.path 2. insect 3. warrior
4. adopt 5. lizard 6. research
7. medical 8. mean 9.leash
10. stay

B 1.d 2.e 3.a 4b 5.c

& o3y
warrior XAt mean H|Zot HAZIE
stay HE =L} path Z

lizard =02 insect 25

Answer Key
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research ¢i71, A}
leash 7= 2]
remember 7 |5iCt
swarm F2/£ X|0f CiL|Ct

Reading 1 p.116

1.0 2.@ 3.Q® 4. @
Visualize the Text
(1) meaner (2) Africa (38) swarm
(4) 20 days (5) leave
=7t @1 QUrt I Ftiis Uite] MARZ 0|20/ U1, 1
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Answer Key
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= Q0[eiT), M2t 1% 29| L8t AXl= (b)olct,

@Y They are not people at all.
*not ~at all: ZF ~otX| =Lt
- at al2 BE20IM ZF& (0Tl o Sjojo]ct
@ When people in Africa and South America
see army ants coming, they leave their
villages.
« X|ZtSAl{see, hear, watch, notice] + SX0{ +
SHEO(HFRIA, SHEAD

=
CZIEQ SXY A= 2ol A

Reading 2 p.118

1.@ 2.9 3.0 4.Q

Summarize the Text
(1) racing dogs

(2) last a few years

(3) sold for research

(4) adopt greyhounds
(5) make good pets

(6) off its leash
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@Y After that, the dog racers don’t want the dogs
any more.
*not ~any more: o O& ~7} OfL|Ct
(= no more)

@I Adopting greyhounds is very cheap (only
$125), and they make excellent pets.
* Adopting2 SBAIZ &2 £0{0|11 SAl=
olLct,

S

@ One of the things to remember is not to let
your greyhound off its leash.
1o remembere= FEAIE HAf the thingsE

);!6}5 649_A|-X-I KO | |:|-'

[ els) -1 od

(not to let ~y= EXAE 2R0|A 2o gt

« 2HAS| EHAS BEHAL HIZ 240 notlnever]
=
=
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Unit 3. Electricity

Vocabulary Preview p.121

A 1.renewable 2.wasteful 3. coal
4. source 5. limited 6. electricity
7. extra 8.run out of 9. pollution

10.chemical
B 1.b 2.e 3.a 4.c 5.d

& ofy

electricity 17| coal AJE

pollution 2¢ renewable XA 7FsSt
limited X[SHel
extra =712, 7t2|2|

run out of ~& Cf Me2(Ct

chemical stsf =22
wasteful H[sh=, 'FHI=Q!
source &, ¥
alternative Chieh A& 7t58 2 improve ZHE|CH LIOEX|CH
work 7t QUCH AESHCF test Aldaltt =lsict

giant g

Reading 1 p.122

1.@ 2.0 3.0 4.Q

Visualize the Text

(1) electricity (2) pollution (3) 50 years

(4) run outof (5 theworld (6) alternative
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2| ViEs YA AL E T2 OiA| ol|X[-S Zotofat @B

= _ _

eI SZ0| HiLLE XSS SVHX| 2XMIE 7HXD URICE ofd 1

(EXET) S2 4T B2 biLLE dMSiCE s250| 289 HiUE 2

1 @ 7kl QL= &7 @ 25t MEfL M M, e 6420] MZICE o HILILIES WS 21, o™ s
@ Azt o 4X| @E @ CHA oo TN = U 2ei=0E 12 55 S252 6ES| HiLLIES H
MOl AEH} Meo| ZHMS X5k A 7SSt of Ch OS2 of ool 28 E9| HILILIE HRCH 0|2 &2 %
K| Qlo] REn} ChHE Mot 9t 2 Lo HiLiLiolch, 252 0|Z0| JHletn Mzbeiin, = 2

efE HiLE B0 X 2L

2 = ¢ 2dod 20l 29 TiEs FMAFIAL O
= o

CHA| OllIX &S RofofRt Btttk 11 &6t QUCH,

as £ Jditekd HIRICEH HLLEZE 228

3 O®eg=H @ HxPt el HH O%se 37| S22 slet JEs tiEtit ueikiEe
© MY 7tset @ st g Rl VIS M| ffall o2 afef HESS 0l8Y 4 ULt 2=
renewable2 XM 7S o oojojn, FFEO|= o DSIXISS 59| 010|C|0f2 AISEHE D QICt Bk 70|
‘capable of being used again’ 0|Ct AMTSICIH 5250] (29| HiLHLE= 500712 oAl 712 H|

4 [23I= BRI H7|E THS0fd 4 Qlct |
(a) CI30ll ChAl OlLIXIEL] olzM SES HMARIL (b) T
S0llM= BHFOl oEA 7| =
o

AUCE Tt FOIE 29 L2 ?IXl= (b)olTt, 1 O B =

== M= @ 7| BtE7|
® EFo 5585 @ 2fefofMe] Z2 ofo||of
o A o o )
¢ 22 SF0IM EQ] HILILIE 2&5I0 TS diret
@& Our coal and oil may only last another 50 Cf = 20Ick
Y 2 A U 2Cold @ iLiis EYo S| elcf atn
s last= SAIE XI&SICE 9 Qjojo|ct, oA (oict
@& We will have to improve our technology or 3 @ mAxol @ HEE @ olZo] @ et
find other sources of alternative energy. extras ‘Z=7t0] Tolo| ool olnjo|n, Eojojzmt

« of ZHOIM F 7Hel ZSAIE AHojof £ = girt,

NOT wiltmust improve:--)

‘additional, excess, surplus 7} QACH

- SPlmA ors £ ool Uit E= sy 4 DEE BRI
2 ofF 1 52 AlgaIt @ EVIE HEII Tl
@ 24 MU 1] st
@ 212 M 5171 st
izt oioll “TISIRISOl ofel HiLILLZ IS Ao o
Sicf 2l LISt HILILIOI LR sishs=ol ol oot
te 2o e Al Jlonz TIZ e P BiiLiel S8R of
Summarize the Text g8 4 UCH 2k UZ0| 2A0f XA

(1) grew too many bananas

(2) the extra bananas

(3) generated electricity @Y When the farmers sold their bananas, there

were always extras.

(5) provide hundreds of families «when2 AIZIS LEH= Sa8aAt0|CH

[e k]

(4) are testing the idea
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@ They wanted to turn the extra bananas into
electricity.
» want= toFHAIE SA0{= Zh=C
-turn A into B: AS B2 T2lsict
@ 1fit works, Australia’s extra bananas could
give electricity to over 500 families!
« 21 2AE0| ARBE IEQ] Qij= ~EITHE 0
=
« work: AZX0|CH= be successiul), 117t QU
CH= be effective)

Unit 4. Robot

Vocabulary Preview p.127

A 1. disability
4. operate
7.land
10. radiation

B 1.e 2a 3d 4c 5D

2. parachute 3. Mars
5. announce 6. accurately

8. evidence 9. curiosity

£ o3|
land 5ottt

rover AR

Mars sH

parachute SoHt
accurately &6t
disability Al &olf, £
radiation 2AL ZA}

announce ZHolCt
operate ~&5olCt
evidence 57

trace FZAGIC} AOHAC

treatment X2 artificial QI53%Q!

vacuum &

contaminate @&A|7|Ct

Reading 1 p.128

1.@ 2.® 3.3 4.@

Visualize the Text

(2) cameras
(5) life

(1) car

(4) oxygen

(3) parachute

AnswerKey

E

Aot 22 o th7} 2012 82 620l 3hA0ll AF3CH NASAE
1 2828 MEfet FelAE(Curiosity) 2t 015 ERict 1
g2 A4 IEEJKIEIE 2011 1€ 260 5= 2Rch §F 235}
T ool RS & FelQAElE XITE o Hol ARlg TS5
QUCH NASAL| AFHES 1 ARRlE E11 SISFiC

0 A 2RE2 XtEAt ZEo| 37(0lnh 242 thEEel oz
£ TI ZHFEQL SA AR Oz2|n B2 SR JiES
Afeln ot F2RAElE 25 2% W20 xekA st
Hofl ZF57|7F OHRICE NASAS] WSIKER AIRS HEA|

| =g
=1 =
717 flall 2 HAIE AT 282 AS 458 2017 ¥
F

= Aot 22 Zo8t 2HS KOs 20|
o} 222 ofmiet 1 %% AN Of Mol BXS WS
|

K= RE2Ct 20124
7t 2tAof 20| E3H

(EXET)

1 @ akdol &et Ales @ NASAS| ¢X=
Q AILRAEIQ] HAK oln] @ F2|AE|S] AFut YT
P =2 2ty AL 2R AelRAEC] 2k 2F, Vs, a2

T Qlso)| mE Zo|ct

2 A 2ROl et AFZS Qo NASA LfsIXiE2 7Adifet

3 X B 2HOIM F2IQAERE X2 3 Fol ARRIZ B
11, NASAS| AIZS2 AftlE Bu Es3iry,

4 NASA ZEIXIS0| F2lQAE} Tiol 20| ERE F7)
S FojCin LI 2 LIROIM B0 Ao BX
S %iss sxd 2 4 Ut

@& After landing in a crater, Curiosity sent a

picture back to Earth.
c BATR0IM EiAE HEEo R MEkehR|R 2
AtFL=20] Qlofst= ZHS| ot7| Ploll FLAL
£ M= FRE ‘RAEP. (= After it landed in a
crater, ~)

@ The machine rover is as big as a car.
*(as - as)2 Eg HuTEeE ~oiF -

ro
1o

Answer Key
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olojolct,

@& 1t was hard for Curiosity to land safely on
Mars because it was very heavy.
o[t ~ for + SHA + toE™AL 12 7150, for S
MA2 ojoja F04, to EFAR= ZIF0{0|Ck,
@Y NASA scientists planned many steps to make
the landing successful.
*to make= RAR 8% SX(~op| ot )2
LEFHC,
@ The mission of Curiosity is to search for the
important things like oxygen.
*to search= =89 20f s sl BAEEY

oI,

Reading 2 p.130

1.©@ 2.3 3.@ 4 @

Summarize the Text
(1) get a lot of help

(2) work at factories

(3) operate on patients

(4) moving or exercising
(5) do chores like cleaning

(6) to remove bombs
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O aelish7| 0122 09| Y2 2RE0/H 2 & =+
_7;<_

Scientists are developing tiny robots which
can enter a patient’s body for treatment.
-are developing2 SIXiEIES AXZ Zlatsel
SHO|Lt HEHS LIEHACE

+ whiche= ZACHHEAIZ HAL robotsE f=AlStCt

@Y Inhomes, robots do chores like cleaning.
« cleaning2 SHAIZ TX|A} likeQ SA0{0|C,

@ Vacuum cleaning robots save us a lot of time.
« SAb saves F M9 SX0IE T Ol=TiEsS
SHX| 95=Lt (NOT - save a-lotoftime-to-us)
@ They use artificial intelligence to tell them
where to clean.
«to tell2 HSAA gz HA artificial
intelligenceE s=Alstct.

- tell + SX0{(them) + SX(where to clean)

@ On the battlefields, robots are used to get rid

of bombs.



-

* be used to SAFES: ~ot7| floll ALBEICH
be used to + BAKSEAD: ~oh=tl| 2U=alct
+get rid of: HMHsiCt (= remove, eliminate,
abolish)

Robots are used in many other areas where

people don’t want to go.

* are usede= AXHAIN| ~SEHOICE

« where people don't want to go= EAEAE
2 ML} areasE SASICH

p.132

A

B
C

1. ran out of 2.adopt 3. contaminated
4. explode 5. artificial

1.® 2.9 3.

1. pollution 2. astronaut 3. leash

4. environment 5. electricity

English Usage

A

1.s0 2.singing 3. overlooking
4. to stay 5. admitting

1. entered --» entering

2. 50 - such

3. talked --» talking

4. played --» play / playing

5. or -» and

Making Sentence

A

1. it takes eight minutes for light to reach us

2. not to let your greyhound off its leash

3. doesn’t make enough electricity for the
world

4. for Curiosity to land safely on Mars

5. where people don’t want to go

AnswerKey

(EX T

» Vocabulary

A 1. 1252 =0| Ot HoiMM 2= 1 Z=2HEZ ZI[E(0f
ic
2. 1 22 59| ofo[7t gloiM B IS satetct
3 F=d 3fef 24 W20l 22| 212 X|F99| ofo] LHE
ASLICE
4 87| Q= wolo| ZEE ERXIH Z26h= O AufSic
5. dlojtes 218 Kis 20| RIS nsixio|Ct
B 1. 22 =7 oiE71E2 222 715 AR
Od QYA QR @3
2 L= 08 ZHo A6k A Melsta T Cieto] gl
AUt
O 22 @ (ERM, 2 QM @ Zof
3. 1 =0l sile 2000t 2010H Af0| 7|7+ BBt
58 Q22 Q@ HX @3A
C 1. poliution: R=4 a8t 282 § £= 2AS HHdles
A
2 astronaut: SFMOIN LSHALE HIdst= AlE
3. leash: 7 =0l £&lE =Z0| 715 = A&
4 environment: TGS A2 4= U= AL F7| 2 1
2|1 X
5. electricity: Hut ZHZ ol AFZ&k= ouX|e] oF &
Ef
» English Usage
A [aHA]
1. 19| =4l HEL 2FehM B AHelolME S0
2 Ofzlof Lo ml MSO0| afisle A2 E= AS £0t
ST
3 1 HES HietEe e UE 2 wert
4 Uz Tol 7t= AL ARAol E= A S0l MEg 4
UL,
5. HIZ U7t Yotz A= QESHIXIEE 65| Lie A=
2X| =t
=
1. so + A+ that + F01 + SAE U ~aliM -2 H
Lot
2. ME0| efiste A2 55 HAO=ZR SMEA
(singing)7+ Lt
Answer Key

41



3 Y20l FEUS HaRE:s

(overlooking)7t gtct CHAPTER 7

Unit 1. People 1

2 it Vocabulary Preview p.137

1 .
. - , A 1.jail 2. armor 3. defend
4 2= 010IS0| &7 ol As He= A Z0leit
5. “manner’ 2l ‘manners’ Ajole] XloJES 200l 4. offense 5. excited 6. prisoner
[5H41] 7. voyage 8. weapon 9. quit
1. ‘0{2lolS0| atmofl Soi7ke A 017| R0 SSHEH! 10. gunpowder
SITE A entering) 7t L2 B 1.b 2.d 3.a 4c 5.e
2,50 + FEAL + ZAL+ FAb = such + AL+ FEA +
oA}
- i £ oy
EATEORZ talking with ~7F L9t EHO0|CH F&AL )
Afterle A2 71=3ict quit 22t offense BZ[Hal], =4
o= < e B jail 42, mea prisoner Z%, TAXf
4 Ol0|S0| ZTE ot= A 22 sEE(0]7] W20 SIxY
‘ armor 4% weapon 27|
o _

—E—AKplaylﬂg), i% %%(play)o| EH;‘(}% E6|_40||:|' defend glof[2H[JslcH
5. (between A and B2l 2joli= " A2t BALOT O|Ck

gunpowder %24 53, 31 excited 28!, 5=
defeat THHIAIZ[CF involve s el]oiCt
» Making Sentence escape ZE3i}, 2ot} trip ol
A 1 URLE H2| BN QM Efo=RE 2 slo| 22 army

oli7il ==oh= o 820 Zelct,

2. SIEX| 7|99g Arel2 J206kRES| s EX| e A .
| SUHR] 7103 MBI JR0lBIRES] T8 B o A S— s
uct,

3 g2 M MAE flell S28 TS s = gloL 1.@ 2.0 3.0 )
4 F2RAEE 2A FHRY| 2ol F2IRAEZE QPG

2| aheof 2SSt ORI
5 2EE0 AlRS0| 72 YsiK| o= are = o of (1) afree man (2) quit the army

A

Visualize the Text

2=} (3) aslave war (4) more than 70,000

(5) howto fight  (6) defeated the slave army

=D

=0t SiAolM 71 SO Lo M Eo| sl ALZEIRA
2l1 22ls YA O[BRUL) (a) 1= X990 Eolktn, 2

O 2ejolM S YUTE (b) 2 FOIOEM BNHR ARIS
DIF7|2 BN TS

=
JkECE A2 o2 g2, A tEol 2= d=0f &4l

H
ro
1o
H
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A =AU (o) =0l U= S0l ATEEREA= 2008 0y

of Z|~50| Fofohs =0 TS A=, (d) 22iH, 808

Er I-IO Ma:o‘ t=5t :

250 =0 dE2 EA ge2 LopIEM ¢xa 2715 8

Aok 350] o 22| 015 45, ¢S U2 =0IS0| 250l
@]

= —
SBCE OFEILY LOHS0] QFRIE 4 QU= BAQI HiHI2 Ao

i3 SlEaEl
RIS mf, 80Ol Fal= 72 F 0ol =RACH,
ANEERAE HASOIZ 20} ZHoll MM M Wolsh=
UHS TIEX = o) 22 2Rt 19 RFRlES 2tlis A2
RS W, ATEERAE 20F RIS H3HeE M2 Us
25t ZOE 2| ZIUCE ol2fElole S7tstn, 3E7te] MEE X|
27 LM 20t 2 27 20l ZHE mHiAz, 2 01 At
EEIFAS CHAfE 2 4 U,

(EEET)
1 @ =0t M=o 22t

@ =0t

@ 20t HROIA oSl X2

@ A E 2t dotl Ji R o

Akl S5

2 AMEERFATL 20| 257 2 Olfe e 2UF7|2
| M=ol S aRt=EChE A2

4 | 0= FRIoRA B2 ARIS BRHXR, o= & UAP|

TOIS 0|2 AMCE

(@) Ef% | ;‘EHOHH =S gUtt = U0l U1, (o) T
=

@& One of the most famous slave wars in
Roman history was led by a man called
Spartacus.

«{one of the most famous slave wars)= 2%
9| £0{0|11 SAk= was ledO|ct,

« callede THEAIZ HAF a mans AT

@& Quitting the army was a serious offense, and

AnswerKey

he was thrown into jail because of it.
* Quitting=2 SHAIZ 222| 2=0{0|Ct,

* because of + HAL ~IHZ0]

@ Whilein jail, Spartacus planned a slave war
that involved more than 200 prisoners.
« {while (he was) in jaiDUIA =0, SAZE M
Ch
Z BACHHAL that2 HAF a slave warg
]

1> —|>1 :Q

e

=

@EY The further they traveled, the more slaves

joined them.
«({the + Hlg-, the + Hlug~: -olH S5
G ~asict

@& When they finally reached Mt.Vesuvius, a
place where the slaves would be safe, their

band of 80 men had grown to more than

70,000.

« (Mt. Vesuvius, a place~): At oJo|E 255t
7] 2lell T2 FAE Holl F= 42 s49 24
7F Elot,

+ where= BAIRAIZ MRlAR= a placeOlCt,

* grow to + HAE (§&o10d) 0| =C

Reading 2 p.140

1.0 2.@ 3.0 4.Q

Summarize the Text

(1) his first trip to China

(2) for a voyage to China
(3) stopped in many places
(4) many surprising things

(5) learned much about China

Answer Key

43
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A, R J210 OFE H2 ASS 1 flof ATk “EH(sh2t
[
=

oMl 2 e AolcH 2t 29|

= 2 =01
CHSHAMEE dzfstedt =it J= S=0f tshM s €1

SOE/ARIT, 2= LX| Z3UCHL 042 20i7I= & 2in S0
OIRALH,

S ot 2 ool S nlE3E B2 AsS BT 1
iz B2 =AISH 27150 gERin) OxRE2 n=20A £
o AS0IRACE,. = Rt MR =AE EUTE d=
Ql=ak= Zofiet Li2ts BT oY, Di23= S=0] =&
Ch &=9 2= X0| oi==201 M2RC, S=252 B2 =
2k2 AS= 7KL AUACE S0l S0|7F AL, Blef= QU
ATt aSofdl 2Rl dE AUCL diETF= B AES HIRC

@ 0232} 19| OFHX|
@ B3| =2t US

=
P 22 023 229 S= ofeliof 26t 20k,

3 ¢ 20ilM oi==9] ZHE2 S=01 7 7K 2UC

Cf & Lg0| LISt mety Biziols S301S0| 2t
S2 JPRID UYUCHE LIBO| S0 XS |58 4 Ut

We are leaving soon! said his father.
* (are leaving)2 ST A= 77k Dl2h
O SHAI ' 2 LIEHNT O[2HAKIE CHAISICY,

@Y He wanted to go to China, but he didn’t want
to leave his friends.

s want= R GAE SX0=Z 2=,

Answer Key

Unit 2. People 2

Vocabulary Preview p.143

A 1.span 2. strength 3. height
4.record 5. raft 6. situation
7. career 8. probably

9. uncomfortable 10. land
B 1.d 2e 3.a 4b 5.c

£ oy

height 1%, =0| career 2¢, Als|dg
record 7|5 land &=aict

span =[], 7|7+ raft 9=

situation 42
probably Otot
industry ¢4

uncomfortable =6t
strength &, 7|2

hire 1EaiCt

bottom P Of2f|, H=

give up &[5t

Reading 1 p.144

1.©@ 2.@ 3.@ 4@

mr

weak 28t 20| gt

Visualize the Text
(1) pilots (2) speed records
(3) airplane company (4) hired

(5) wood (6) Spruce Goose

f

HIHZ[7F L =370 ZBAS2 FHAERL ZRUATE 7H
7Ee =EAE & of 2 olfe R=RUCL 19| HIF H=H0|
2ol ol=R2 o, O Hidn HEE SR8t &= VIEESS
BT XRIRICEL 2= Eof HlY| 2lAE HERUC

Ml 2t o Soff 0] S22 29| SIAME 28dhM HIgES
USEE 3o IAS2 I IRREE = 20 25 4 U=
A0IACE /2= 7diet HIEES Bes XS SR/0L 242
70089 Z2l= EfE 4~ U 219 F0[ 300TEE o & 4
U AOIRACE T B0l 24 H= A0l oRY] M=ol &

M-
xE 9 BIS OheE L

H0
U
=2
un
o}
]
=
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Z
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:
;
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@
o
I
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~
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29| HlFof tof 20|
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AnswerKey
272|7 2L=2 70| H|gHT |7} LER2 AA|EQIcH= .
1270 =R, MRS | 77t LHR2 AAI=RACH Reading 2 0146
O|RZ "LIF 7i$| et Xk
1.@ 2.3 3.0 4.0
Summarize the Text
(2xsiA)
_ (1) alone in a life raft
1 O©71 RYet 2BAS
= . ; 2) his boat sank
F29| LR 749 @
® O|29] &2 At (3) no food or water
@ O] Stat 2%t MACHH (4) wanted to give up
¢ 22 HIA7 7 LIEH Z=&7| AIEY |Ee 2EARH (5) he saw land
SIRIE 22 19 dlet|of &tet 0[0F7[0|Ct, (6) the happiest day
2 T B0l 342 P= A0] o] 20| 2= 29 H]
WIIE HER LIRE PHE2T ZeRiXet 0] 322 8= @
o| 0|21 A|&lof| A0 9101 .
I A0l 0T B AEIZ0] MOlGS 1, M= OIS CIRD SIS woi s
3 s=9 HI%'UIE L2 & CXelolzk= 0% w0l ol 3 THEEO| HiHo| AU 0P SHIUCEL F Y OIUX[? AEI2

o [
X ‘EJ?II'_ Jo i = 57| A 2 gelolAl EX| 23t 2= 1o BEEJH70Y Hof 72k ¢f
!

=0 2
19/ 2F 22 KSA27F =UC UAS 72 FEIUCL

_ o o SHCH 19| At}
Lo AMEE 4~ U= et HlV 1S PE0 £7IS & ~ S e - c
P = 7S 923 4 o} = O LIS 220140 AZfO[LE ATt T8 QIUCH 1= M
AN — A= Trr="T M _ o
g0l 22 UUCE 19| AHEEE= FHO| K TS| HIZO|
BhX) 0 URACE 1= ofok= = 2 Z0ICh
AEIE2 OHY LUCH Ysh= 20| 19| Mats M2GHK| s
- =
EQIQICE SRS @5, T= Yol (ol R OFAUT AIMH R
@ At the height of his flying career, he held all Ch 7= TogE| S o 2o{of gich 1742 H2E sl=
of the important speed records in flight. A0 QAT 0|74 Bl0| SUCH 107 TS Z10| OFF = 9
at the height of ~: ~2| T30, ~0| B I Ut U MNS S 19| DIXIEf AN oIS FHolgith 1
of = =71 & o Folof Ak aAE HE = AYoIRUCt
@EY Metal was difficult to get during the war, so = DERE de 27lotl ARl 2= gE2 Foi7ie
. . 9 (o3
Hughes decided to build his plane mostly 2{CH,
R GITR WEEL. AEIER T19 FHEE Sl KMo BUCH &0 a%2 |XIU
« FSAL 'S0 = ATE LIEHE FHAAE A, O O= |XIE & 4 AU I RICH 2 AEES 22
~5107 2| ojojo|ct oME 2 4 UAACE 2740] 25 el 7t ALt HES
. decides to2RAlE 2X0{2 ZH=C} 0l 25 =Xof diaizt 2 AEES| Aol 7HE A58 &
OlUL
@& He became a joke in the aircraft industry,
with people calling his plane the “Spruce
s . (Exs1A)
Goose” for its wooden design.
with + 2E0] + SE=OSHRA): S2RA 1 ©0i7S0| ARES 42 o
F20| oz Aol o|nl 0| Yo (with) @ £EIES 822 Dl X U
- o 45 A=4 SH
£ S0| SANFO| A0S Liekict @ AEIES ZHE las ARG
@ AE[22 HiCHollM 70 OlAE XIH & ZAREICE

Answer Key 45
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? 22 AE[20] HiCto] #FSHHM 702 Olds 2 =

=Hez Fxg olopr[o|ct

2 % S0l AE20] XMl A=
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rm
=2
sl
ro
L

= = g8VIimL =2
=0lct
4 AE|E0| FHEE Q2 MUEUS ©f SAPF BRI O

@ The work helped him not to think about his

situation.
shelp + X0 + SAE(FASZAL 102-Ap:
~7} ol 2 SO

« HHALS] BE: notlnever] + to SAIEE

But today, he was too weak and tired to work.
«{too + FEA + to EHAhE= HR ~ElM F

= giCt 9| olojolct,

Unit 3. Origin

Vocabulary Preview p.149

3. handshake

6. courage

A 1.friendly 2.vine
4.canyon 5. worldwide

7. greeting 8. enthusiasm 9. warrior

10. tower
B 1.e 2a 3d 4c 5.b
& oy

handshake /4~

warrior MAt

greeting /A

worldwide T M7=
friendly ZIEs{ &5 enthusiasm 22, 25
tower & canyon =
courage &7| vine = A=

confident Xz Qli= general YU EHZC

Answer Key

-

rr

popular 27| ! climb 22c}, 22p7tct

DH ol

AN

Reading 1 p.150

1.@ 2.@ 3.@ 4.@®

Oloh
rr

interested 2]

Visualize the Text

(1) greeting  (2) Europe (3) weapons

(4) peace (5) confident (6) interested

. CE Ag2 MAERL AL #OIX
SSOIM ARERIS Ao|ct,

ot & O TATE XMEez TEE o ARERIC

T ot 2249l MAkE a7t RIIE TR UX| GitheE

20[7] flaliM 29| &= L Ut AIZHO] X|LEA, 0]%0] H

a

o
o> X
kool 2

-
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Xy
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e}
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o
]
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o
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o
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=
m
£Q
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= =2 1 O .

sH, W2 MHE2 A7 ofd Aol s B2 As E
LloifA] 2ohE 4~ AT MZfitt SE Az T AR—F0| AR
doil Xt ACt= A BoECh a2 27t gat @8 2
Che A2 E0E0 2ef ofals S0 AFS0] 49 ==
ORFXIX| 40, 222 250] G0l B2 #4S 7R
UX| @AHL =22 a50] &7[11 A2 FNWVIE w1 UTh=
As Q0IER|= 2EL, s MO VEX|Q| TOHE Q0| 71
o UKL 7|2l 22 2ot a2 Fele| ASolT,

(Exis)
1 ok ZMol A% @ o 7l ofn|
@ oMo CIZ EAl @ o0 Cist ZRS
9| 22 okl 7|@m Cleset oIS of Bt Zolc

3 DI% o SOl ARISO| TS 8 IFRAIR|
Cf3, 2212 50| A0 B B KD YAl e
Lt 22 250] &7]1 A2 AURIIE 241 Ucks %S ©
ERN R

L O Hal B @ P12 ARSI 22 2
@ BRI A% GEFEE:S
HI7Hof BES 'oavt ClE O0lg JhRID QUXIBE of

i



Each warrior would hold out his hand to
show that he was not holding a weapon.
- each + THAE each7t $AlGHs YAl
HMOZ TR0
+10 show= AR 8
EPHCE

e
ikl

SFX(~st7] Y5t Lt

@ 1fpeople do not meet your eyes during the
handshake, it may mean that they are not
very interested in you or they have
something to hide.
< IE2 2 RAIEE '~ 9| ojnjo|ct,

« be interested in: ~0f &AI0| QICt

«to hide= HAF somethings A6k SSAA
ot
Reading 2 p.152
1.@ 2.Q 3.3 4O

Summarize the Text

(1) the best and most famous
(2) did not start there

(3) on the Pentecost Islands
(4) tied vines to their feet

(5) a test of courage

MAM 7ty 2 A H=olct, I{Q =0(7t 340L|E0|04 of
1 oo |Z2fRIof M H=

wEUEE @€ HXA| HZshof 7ig REet HA0(X|2h H

AnswerKey

K| HIob AR0IM ARHE 242 OfLICH HIX| M eyl
HE DA N0 AREIRCE T Ho| HAISS 52 LR & 9
2 SeRrh 152 FBAR0| F7I2 159 Yo 21 HolA
Fof LRICE 222 E2 AIZOIRT IS = £717t
TOIRA ARYE0| 7| 0t 25 WX HEE 3l MUS
2l oh x| Mo

=
2 E4 2mE AGSItH OfF| B OH5H SRSt
=

EEER)

1 @S0G &S @) 1+ 2+ 3o HI|
@ Yol 7|1 Aozt @ 2=
Q| 22 HX| Hmo| 7|t FAM=0] #HX| HOE AJle}
o Qlct w2k 1. 2. 3. Bungeel 7t M2o=2 XMZAGIC
2 ‘FAMCSIE @59 HX| HMooh|of 7ta SEet AA0|X|2E
Z[=0| HX| Hm7t AIRE X2 EfEYo| HETAEMO|CH
3 257 HA| HoIt 2 QEHsHEI 0lf= HIX| MEE of=
AHE0| Eo+ 2EE AKZo}7| W20]Ch

42X Hoz o] IEC HH A0 AL 2=
ol #X ’SE': M2 AS0IA g2 Al”o|ct w2k
AIHS0| HX| oS ol2E E7(7F Lol

The Pipeline in Skippers Canyon is the
biggest bungee jump in the world.

« (the ZE + in )= FdgS HEHHCE

@& Itis much safer now, but it is still a test of
courage for many people.
- Hlmg ol much, still, far, even S MA H
M o ~BF 9| =0t

p.154
A 1. Canyon 2. height 3. strength
4. defend 5. hire
B 1.® 2.®@ 3.0
C 1.career 2. offense 3. enthusiasm
4. voyage 5. land

Answer Key
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English Usage

A 1.themore 2.go 3. coldest
4. so 5. is sinking
B 1.more --» most
2. fatter --»» the fatter
3. but - so
4. older --» old
5. see -+ sees

Making Sentence

A 1.how to fight and defend themselves
2. At the height of his flying career
3. it was the happiest day of Steven’s life
4. Each warrior would hold out his hand
5. The biggest and most famous bungee

jumps

(EXET)!

» Vocabulary

A1

S22 e HEE Sof SEC.

S 20| 22k= A
2ol= of=20| 2ol
St

HTo

.U'l.-'-\.‘dN

=)
g
lﬁ
i

-

5 land: 2[E6tAL HH Y2 L2{rt

» English Usage

A

. Sl2|7I2I0] SRV IS ZERME T =0[7t 200(E{7} ERUCt

C 1. career M
2. offense: &2 FLt ©E 0f7|= a9
3. enthusiasm: O of| 04 Aot SEHe! of

o
4 voyage: HI(E}S7)E Efn M 72|E Cibl= 21 o

ru\

Answer Key

[attAd]

1. M7 S EeE 4 gSd 25500

2 JU= UF OlmtM J7HE 2 47t glEt,

3. &= tiE2 MA0IM 2t =2 X[HoT,

4 L= O710| QoI 25K =rt J2iM L= 1
NS FAE ook,

5. 1 Hi= Xz 0iS W=7 712t AN,

[ati&]

1. {the Hlug ~, the Hulg )72 Hlug ol &

AL thet é‘ﬁorif
2 {too ~ t0 H)TEOZ toFHAL FEHQI to go/t YU
H0ct
b
|4
ATH
b i

[atA]

. ME2 MM 71 80122 =Al S9f SiLolTt,
CUIZHHeH HESE, He OS2 WA E Aot
. XlE H2l7F S oFRTE J2hM OH= ofg HUC
. F2| HOMRlE EXM KEllE Sholole U2 Lot B
OA|CH
5 7|-7|-O| il— H%
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5. (Each + T=AD7E 01 T, SAKS] = H40ICE

Ot old7t &

» Making Sentence
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ol ofa) 22 By
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